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       INSTRUCTIONS TO CANDIDATE      

Read the following instructions carefully before you begin to attempt the questions. 

(1) This booklet contains 100 Questions in all comprising the following Four parts.  

Part-(I)   : Quantitative Aptitude     (25 Questions) 

Part-(II)  : Reasoning Aptitude     (25 Questions) 

Part-(III) : General Studies      (25 Questions) 

Part-(IV) : English Language     (25 Questions) 

(2) All the questions are compulsory and carry equal marks. 

(3) Before you start to attempt the questions, you must explore this booklet and ensure that it contains all the pages 

and find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced 

immediately. 

(4) Each question carries negative marking also as 0.5 mark will be deducted for each wrong answer.  

(5) You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll 

number, Test name/Id and name of the examination on the Answer-Sheet carefully before you actually start 

attempting the questions. You must also put your signature on the Answer-Sheet at the prescribed place. These 

instructions must be fully complied with, failing which, your Answer-Sheet will not be evaluated and you will be 

awarded ‘ZERO’ mark. 

(6) Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the 

relevant question number by pencil or Black/Blue ball pen only. 

(7) A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/ 

different from the information given in the application form, the candidature of such candidate will be treated as 

cancelled. 

(8) The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.  

(9) Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be 

deemed fit. 

(10) Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do 

not spend too much time on any question. 

(11) Mobile phones and wireless communication device are completely banned in the examination halls/rooms. 

Candidates are advised not to keep mobile phones/any other wireless communication devices with them even 

switching it off, in their own interest. Failing to comply with this provision will be considered as using unfair means in 

the examination and action will be taken against them including cancellation of their candidature. 

(12) No rough work is to be done on the Answer-Sheet. 

(13) No candidate can leave the examination hall before completion of the exam. 

       
DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO 

TEST FORM NUMBER 

 

 

Maximum Marks : 200 

Total Questions :    100 

Time Allowed :   60 Min. 
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 100 
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ROLL No .................................................................. 

 

 

Maximum Marks : 100 

Total Questions : 100 

  

https://www.facebook.com/tesmuseduserve
https://tesmus.com/


SSC_CHSL_PRE_2024                                                                 TEST ID - SHP - 904243601 
 

Fb:- https://www.facebook.com/tesmuseduserve            2 | Page                        Web :- https://tesmus.com 

Quantitative Aptitude 

1. 'A', 'B' and 'C', alone can do a work in 12 days, 15 
days and 20 days, respectively. If they started work 
together and 'B' left after 3 days, then in how many 
days the remaining work will be completed? 
(A) 3 days  (B) 5 days 
(C) 2 days  (D) 6 days 

 
2. In the given figure, if ∠APB = 36°, then value of ∠AOB 

is [Given 'O' is the centre of the circle]: 

 
(A) 136°   (B) 128° 
(C) 144°   (D) 72° 

 
3. Find the units digit of the expression: (144 + 34 + 52) . 

(A) 1   (B) 0 
(C) 3   (D) 2 

 
4. An article was sold at a loss of 8%. If it had been sold 

for Rs. 460 more, then it would have been sold at a 
profit of 15%. If the same article was sold for Rs. 
2,440, then what would be the profit percentage 
earned? 
(A) 28%   (B) 18% 
(C) 22%   (D) 16% 

 
5. PA and PB are tangents to the circle and 'O' is the 

center of the circle whose radius is 7cm. If PO is 25 
cm then find the perimeter of quadrilateral APBO. 

 
(A) 64 cm  (B) 54 cm 
(C) 62 cm  (D) 48 cm 
 

6. The table given below shows average of the number 
of bottles of two types sold by each shop and 
percentage of number of Milton bottles sold out of 
total number of bottles sold by that shop. 
Note: Total number of bottles = number of Milton 
bottles + number of Borosil bottles 

Shops Average number 
of bottles sold 

Percentage of 
number of Milton 

bottles sold 

A 125 70% 

B 150 35% 

C 220 55% 

D 180 80% 

E 165 63% 

Number of Milton bottles sold by shop 'C' is what 
percent of number of Borosil bottles sold by shop 'D'? 
(Correct up to 2 decimal places)  
(A) 136.11%  (B) 436.11% 
(C) 336.11%  (D) 236.11% 

7. Compound interest earned after 2 years on investing 
a certain sum at compound interest of 5% p.a., 
compounded annually is Rs. 1,230. Find the sum. 
(A) Rs. 10,000  (B) Rs. 11,400 
(C) Rs. 12,200  (D) Rs. 12,000 
 

8. Find the value of, if of 
𝑥2+9𝑥+𝑦

4𝑥2−28𝑥2 ,  if 
 
𝑥 +

𝑦

𝑥
= 7. 

(A) ( - 3/y)   (B) ( - 4/y)  
(C) (4/y)    (D) ( - 3y/y) 
  

9. What is the value of cos75o + cos15o? 

(A) √
3

2
   (B) √

1

2
 

(C) √3   (D) √2 
 

10. The fourth proportion of 9, 18, and 27 is same as third 
proportion of 'k' and 18. Find the value of 'k'. 
(A) 12   (B) 6 
(C) 9   (D) 8 
 

11. 5 years ago from now, the average age of a group of 
7 friends was 12 years. 2 years hence from now, if a 
person of age 13 years leave the group and another 
person who is 20 years old join the group, then what 
will be the average age of the group 2 years hence 
from now? 
(A) 20 years  (B) 18 years 
(C) 15 years  (D) 22 years 
 

12. A 450 metres long train takes 24 seconds to cross a 
pole. How much time will it take to cross a 225-metres 
bridge? 
(A) 36 seconds  (B) 42 seconds 
(C) 28 seconds  (D) 32 seconds 
 

13. The given pie-chart shows the percentage distribution 
of marks obtained by 4 students out of total marks 
obtained by given four students together. Study the 
pie-chart carefully and answer the following question. 

 
If average marks obtained by 'A' and 'C' together is 
144, then find the sum of marks obtained by given 
four students together. 
(A) 800   (B) 600 
(C) 400   (D) 500 
 

14. Anand and Amit started a business by investing Rs. 
1,120 and Rs. 1,200, respectively. 30 months later, 
Amit withdrew his entire investment. 3 years after 
starting the business, find the proportion of profit 
share of Amit out of total profit. 
(A) (28/53)   (B) (25/53)  
(C) (1/2)   (D) (7/15)  
 

15. The given graph shows number of students in 
different mark ranges. Study the graph carefully and 
answer the question given below. 
Note: No students scored marks in multiple of 10 

https://www.facebook.com/tesmuseduserve
https://tesmus.com/


SSC_CHSL_PRE_2024                                                                 TEST ID - SHP - 904243601 
 

Fb:- https://www.facebook.com/tesmuseduserve            3 | Page                        Web :- https://tesmus.com 

 
 
Number of students who scored marks between 20-
40 is how much percent of total number of students 
who scored marks between 40-60 and 80-100 
together? 
(A) 25%   (B) 40% 
(C) 20%   (D) 80% 
 

16. Simplify: = √√√128 + 26 − 5 × 7. 

(A) 3   (B) 9 
(C) 12   (D) 6 
 

17. A student scored 32% marks in a test and failed by 52 
marks. If passing percentage is 45%, then find the 
maximum marks of the test? 
(A) 400   (B) 450 
(C) 360   (D) 300 
 

18. Out of total distance covered by a man, he 
covered 1/4th of the distance with the speed of 30 
km/hr, 1/3 rd of the distance with the speed of 50 
km/hr and rest of the distance with the speed of 75 
km/hr. Find the average speed of the man during the 
whole journey. 

(A) 42
9

37
 km/hr  (B) 36

29

37
 km/hr 

(C) 48
24

37
 km/hr  (D) 47

13

37
 km/hr 

 
19. If p2 + 1 + 2p = 0, then find the value of: 

4𝑝3−10𝑝

2𝑝2−7𝑝3  

(A) (3/5)   (B) (2/3)  
(C) (6/5)   (D) (1/3)  
 

20. The number of solid spheres each of radius 3 cm, that 
could be formed when a right circular solid cylinder of 
diameter 8 cm and height 81 cm is melted and recast 
to form the spheres. 
(A) 44   (B) 36 
(C) 30   (D) 42 
 

21.  If x2 - x = 5, then what will be the value of 
𝑥4−4𝑥3

5𝑥2−3𝑥3. 

(A) 3   (B) 2 
(C) 5   (D) 1 
 

22. The value of 
2.1×2.1×2.1−1.2×1.2×1.2

2.1×2.1+1.2×1.2+2.1×1.2
 is: 

(A) 0.9   (B) 1.5 
(C) 2.1   (D) 1.2 
 

23. If x + 1/x = 4, then find the value of x4 + 1/x4. 
(A) 198   (B) 194 
(C) 200   (D) 189 

24. If 
𝑥−2𝑥tan2 45∘

2+tan2 45∘
= sin2 45∘ + cot2 30∘ − 5cos2 30∘, then 

the value of 'x' is: 
(A) 0.32   (B) 0.65 
(C) 0.625  (D) 0.75 
 

25. The length of the edge of a cube is 6.3 cm. What will 
be the volume of the largest sphere that can be 
carved out from the cube?  

(Take π = )  
(A) 156.328 cm3  (B) 130.977 cm3 
(C) 160.321 cm3  (D) 172.324 cm3 

Reasoning Aptitude               

26. Select the option that represents the correct order of 
the given words as they would appear in an English 
dictionary. 
1- Contour  2- Concept 
3- Convent  4- Conserve 
5- Connect  6- Conquer 
(A) 2, 5, 6, 1, 4, 3  (B) 2, 5, 6, 4, 1, 3 
(C) 2, 5, 4, 6, 1, 3  (D) 2, 1, 5, 6, 4, 3 
 

27. By interchanging the given two signs and numbers 
which of the following equation will be not correct? 
+ and × , 4 and 12 
I. 44 ÷ 12 × 4 - 6 + 11 = 94 
II. 96 ÷ 4 + 15 - 12 × 2 = 50 
(A) Both I and II  (B) Only II 
(C) Neither I nor II (D) Only I 
 

28. In the following question, four number pairs are given. 
In each pair the number on left side of (-) us related to 
the number of the right side of (-) with some 
Logic/Rule/Relation. Three pairs are similar on basis 
of same Logic/Rule/Relation. Select the odd one out 
from the given alternatives. (NOTE: Operations 
should be performed on the whole numbers, without 
breaking down the numbers into its constituent digits. 
E.g., 13 - Operations on 13 such as adding/ 
subtracting/ multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing 
mathematical operations on 1 and 3 is not allowed)  
(A) 54 - 36  (B) 72 - 48 
(C) 84 - 46  (D) 66 – 44 
 

29. Select the option in which the given figure is 
embedded (rotation is not allowed) . 

 

(A)   (B)  

(C)   (D)  
 

30. Select the option that is related to fifth letter- cluster in 
the same way as the second - letter cluster is related 
to the first letter- cluster and the fourth letter-cluster is 
related to the third letter-cluster. 
CALM: XZJI :: WENT: BTQK :: RUSK: ? 

20
80

210

245

110

0-20 20-40 40-60 60-80 80-100
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(A) ROPH  (B) ORRH 
(C) ORPH  (D) ROHP 
 

31. In the following questions below are given some 
statements followed by some conclusions based on 
those statements. Taking the given statements to be 
true even if they seem to be at variance from 
commonly known facts. Read all the conclusions and 
then decide which of the given conclusion logically 
follows the given statements. 
Statements: I. All Arts are Paints 
II. Some Paints are Colours 
Conclusion: I. Some Colours are Arts 
II. No Colours are Arts 
III. All Paints are Colours 
(A) Only conclusion I follows   
(B) Only conclusion II and III follows 
(C) No conclusion follows  
(D) Either conclusion I or II follows 
 

32. Four letter-clusters have been given out of which 
three are alike in some manner and one is different. 
Select the one that is different. 
(A) KHM   (B) DAG 
(C) SPV   (D) QNT 
 

33. Select the number from the given option that can 
replace the question mark (?) in the following series: 
17, 26, 51, ?, 221, 390 
(A) 100   (B) 115 
(C) 132   (D) 95 
 

34. A series is given with one term missing. Select correct 
alternative from the given ones that will complete the 
series. 
HUGE, MBAW, RIUO, WPOG, ?, GDCQ 
(A) BWIY  (B) CXJY 
(C) BXIY   (D) CWIY  
 

35. Which answer figure will complete the pattern in the 
question figure? 

 

(A)  (B)  

(C)  (D)  
 

36. In a certain code language, 'ENGLAND' is coded as 
'196' and 'WORRIED' is coded as '75'. What is the 
code of word 'HIEST' in the same coding language? 
(A) 158   (B) 145 
(C) 171   (D) 169 
 

37. Seven boxes, B1, B2, B3, B4, B5, B6, and B7, are 
kept one above the other, however not in this 
particular order. The box which is at the bottom is 
numbered as 1, the box above it as 2 and so on. B5 is 
three boxes above B1 such that both are prime 
numbered boxes. There is one box between B5 and 
B6. B3 is two boxes above B2. B2 is an odd 

numbered box. B7 is above B4. How many boxes are 
below B4? 
(A) Three  (B) Four 
(C) Five   (D) Six 
 

38. Select the set in which the numbers are related in the 
same way as are the numbers of the following set. 
(NOTE: Operations should be performed on the 
whole numbers, without breaking down the numbers 
into its constituent digits. E.g., 13 - Operations on 13 
such as adding/ subtracting/ multiplying etc. to 13 can 
be performed. Breaking down 13 into 1 and 3 and 
then performing mathematical operations on 1 and 3 
is not allowed)  
(65, 39, 13)  
(32, 14, 9)  
(A) (41, 19, 9)   (B) (40, 18, 11)  
(C) (53, 21, 14)   (D) (26, 8, 11)  
 

39. In a certain code language, 'STORED' is written as 
'WYSWII' and 'LAMENT' is written as 'PFQJRY'. How 
will 'RECALL' be written in that language? 
(A) VIGFPQ  (B) VJGFPQ 
(C) VJGFPP  (D) WIHEQP 
 

40. Words given on the left side of (::) are related with 
each other by some Logic/Rule /Relation. Select the 
missing word/word pair on the right side of (::) from 
the given alternatives based on the same 
Logic/Rule/Relation. 
Dholavira: Gujarat :: ? 
(A) Hampi: Karnataka   
(B) Elephanta Caves: Madhya Pradesh 
(C) Ellora Caves: Tamil Nadu  
(D) Sanchi Stupa: Maharashtra 
 

41. Answer the following question based on the direction 
given below. 
If 'A#B' means 'A is father of B' 
'A@B' means 'A is brother of B' 
'A$B' means 'A is son of B' 
'A%B' means 'A is daughter of B' 
'A&B' means 'A is wife of B' 
If C % D & E $ F # G & H, then how is G related to D? 
(A) Brother-in-law  (B) Sister-in-law 
(C) Sister  (D) Cannot be determined 
 

42. Three different positions of the same dice are shown. 
Select the letter that will be on the face opposite to 
the face having the symbol '!'? 

 
(A) @   (B) & 
(C) $   (D) # 
 

43. Three of the four words are alike in a certain way and 
one is different. Pick the odd one out. 
(A) FINP   (B) ORTY 
(C) CHKO  (D) ELQT 
 

44. Find the number of triangles in the given figure: 

 
(A) 18   (B) 16 
(C) 14   (D) 17 
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45. Which among the following word cannot be formed 
using the letters of the given word only once? 
INVALIDATION 
(A) NATIONAL  (B) AVIATION 
(C) INITIALS  (D) VALIANT 
 

46. Select the correct mirror image of the given 
combination when the mirror is placed at line MN as 
shown. 

 

(A)  (B)  

(C)  (D)  
 

47. Select the combination of numbers that when placed 
sequentially in the blanks of the given series will 
complete the series. 
7 _ _ 4 5 _ 2 7 6 8 _ 5 3 _ _ 6 _ _ 5 3 2 7 _ 8 4 _ _ 2 
(A) 8, 6, 4, 3, 2, 7, 4, 4, 6, 5, 3   
(B) 6, 8, 3, 4, 2, 7, 8, 4, 6, 5, 3 
(C) 6, 8, 4, 2, 2, 4, 7, 4, 6, 5, 3   
(D) 8, 6, 3, 4, 7, 2, 4, 4, 5, 6, 3 
 

48. In a certain code language, 'EARN' is coded as '6' 
and 'SOLD' is coded as '34'. How will 'TRAP' be 
coded in that language? 
(A) 21   (B) 38 
(C) 17   (D) 36 
 

49. Choose the Venn diagram which best illustrates the 
relationship among the given classes. 
Class: Prime numbers, Whole numbers, Irrational 
numbers 

(A)   (B)  

(C)   (D)  
 

50. If it was Thursday on 1st February 1444, then what 
was the day on 16th October, 1444? 
(A) Friday  (B) Sunday 
(C) Thursday  (D) Wednesday 

General Studies            

51. Which of the following dynasty was founded by 
Vijayalaya? 
(A) Nagama Dynasty (B) Chola dynasty 
(C) Soma Dynasty (D) Sangama Dynasty 
 

52. With which of the following states is the folk dance 
"Dhalo" associated? 

(A) Kerala  (B) Tamil Nadu 
(C) Madhya Pradesh (D) Goa 
 

53. How much capital outlay has been approved for the 
Railways in the Union Budget 2023-24? 
(A) Rs. 2.23 lakh crore (B) Rs. 2.35 lakh crore 
(C) Rs. 2.40 lakh crore (D) Rs. 2.56 lakh crore 
 

54. The hormone insulin which is used in treating 
diabetes was discovered by Frederick Banting. He 
was a/an ____________ medical scientist, physician, 
painter, and Nobel laureate. 
(A) Canadian  (B) American 
(C) Australian  (D) Swedish 
 

55. Who composed the Buddha Charita? 
(A) Asvaghosha  (B) Kanihska I 
(C) Charak  (D) Kanishka II 
 

56. Which committee report recommended that 
Scheduled caste status be completely delinked from 
religion and be made religion-neutral like Scheduled 
Tribes (STs) ? 
(A) Ranganath Mishra Committee  
(B) J. R. Varma Committee 
(C) Mahajan Committee   
(D) Shivraman Committee 
 

57. "Vayudoot" was a regional airline in India established 
on 20th January 1981 as a joint venture between 
Indian Airlines and _______. 
(A) SpiceJet  (B) Air India 
(C) IndiGo  (D) Vistara 
 

58. 'Hima Das' is associated with which sport? 
(A) Athletics  (B) Wrestling 
(C) Tennis  (D) Hockey 
 

59. Article 148 of the Constitution of India provides for an 
independent office of the __________. 
(A) Advocate General of the State  
(B) Attorney General of India 
(C) President of India   
(D) Comptroller and Auditor General of India 
 

60. 'Davis Cup' is associated with _________. 
(A) Table Tennis  (B) Polo 
(C) Hockey  (D) Lawn Tennis 
 

61. With reference to the cultural history of the medieval 
period, which material was used for royal dresses and 
shawls in the courts of Muslim rulers? 
(A) Kasuti  (B) Himroo 
(C) Toda   (D) Rabari 
 

62. Gond painting is a traditional art of which one of the 
following states? 
(A) Uttar Pradesh  (B) Rajasthan 
(C) Madhya Pradesh (D) Telangana 
 

63. Chief Justice of India (CJI) gives his resignation to 
which of the following authority? 
(A) President of India   
(B) Senior most Judge of the Supreme Court 
(C) Prime Minister of India   
(D) Speaker of Lok Sabha 
 

64. While __________, data transfers from the 
customer's machine to the server. 
(A) Browsing  (B) Uploading 
(C) Forwarding  (D) Downloading 
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65. What is the full form of 'IADP' launched in 1960? 
(A) Intensive Agriculture district programme 
(B) Intensive Agriculture drought programme 
(C) Institutional Agriculture district programme 
(D) Institutional Agriculture drought programme 

 
66. Which of the following statement is NOT CORRECT 

associated with the "First Five-Year Plan"? 
(A) Jawaharlal Nehru presented the First Five-Year 
Plan.   
(B) The First Five-year Plan was launched in 1951. 
(C) The motto of the first five years plan was 
'Development of agriculture'.   
(D) The First Five-Year Plan was based on the 
Mahalanobis model. 
 

67. Which of the following is NOT an example of scalar 
quantity? 
(I) Temperature 
(II) Force 
(III) Speed 
Which of the above statement(s) is/are correct? 
(A) I Only  (B) II Only 
(C) Both I and II  (D) All I, II, and III 
 

68. 'Sitar' is a plucked stringed instrument used in 
classical music. Sitar is invented by which of the 
following Indian musician? 
(A) Amjad Ali Khan  
(B) Khusrau Khan 
(C) Kishan Maharaj  
(D) Pandit Ravishankar Prasad 
 

69. Name the outermost layer of Earth. 
(A) Core   (B) Mantle 
(C) Crust  (D) Corona 
 

70. All-India Muslim League (AIML) was a political party 
established in which year? 
(A) 1860   (B) 1897 
(C) 1906   (D) 1923 
 

71. Which of the following is the best description of 
"Barometer"? 
(A) A scientific instrument used to measure 
atmospheric pressure   
(B A scientific instrument used for measuring or 
evaluating hearing acuity 
(C) A scientific instrument for the mechanical 
recording & reproduction of sound 
(D) A scientific instrument to measure pressure of 
liquids or gases 
 

72. Exercise Orion is a multinational exercise hosted by 
which one of the following country? 
(A) Russia  (B) UAE 
(C) France  (D) Australia 
 

73. _________ is a measure of the force that can cause 
an object to rotate about an axis. 
(A) Torque  (B) Gravity 
(C) Acceleration  (D) Displacement 
 

74. Arrange the Correct order of the atmosphere layer 
from lowest to highest. 
(A) Stratosphere, mesosphere, troposphere, 
thermosphere, exosphere   
(B) Thermosphere, troposphere, stratosphere, 
exosphere, mesosphere 
(C) Troposphere, stratosphere, mesosphere, 
thermosphere, exosphere   
(D) Stratosphere, Troposphere, thermosphere, 
exosphere, mesosphere 

75. Who was the founder of the Mongol Empire? 
(A) Timur  (B) Babur 
(C) Genghis Khan (D) Alisher Navoi 

English Language 

76. Select the most appropriate antonym of the given 
word. 
WITHER 
(A) wed   (B) satiate 
(C) resist  (D) bloom 
 

77. In the following question, one part of the sentence 
may have an error. Select the option containing the 
error as your answer. 
Preserving what we value in (A) / the face of climate 
change is (B) / complicated and often overwhelm by 
(C) / the sheer volume of what we stand to lose. (D)  
(A) A   (B) B 
(C) C   (D) D 
 

78. In the following question, out of the four alternatives, 
choose the one which best expresses the meaning of 
the given word. 
PREROGATIVE 
(A) immaculate  (B) destitute 
(C) privilege  (D) dotage 
 

79. Select the most appropriate meaning of the given 
idiom. 
Drive a hard bargain 
(A) negotiate effectively   
(B) make a difficult decision 
(C) accept one's mistake   
(D) be unwilling to change one's mind 
 

80. Out of the following choose the word which expresses 
the word opposite in meaning to the given word. 
Cognisance 
(A) heed   (B) initiation 
(C) ignorance  (D) notion 
 

81. Select the most appropriate option to fill in the blank 
and make a grammatically correct sentence. 
The new manager is determined to _________ the 
company's productivity and efficiency through 
innovative strategies. 
(A) subdue  (B) augment 
(C) hinder  (D) impede 
 

82. Select the most appropriate word to fill in the blank. 
The new restaurant in town has a/an _____ menu 
that caters to a variety of dietary needs. 
(A) pathetic  (B) limited 
(C) inclusive  (D) obscure 
 

83. In the following question, a sentence has been given 
in Active/ Passive Voice. Out of the four alternatives 
suggested, select the one which best expresses the 
same sentence in Passive/Active Voice. 
The audience applauded the performer at the 
ceremony. 
(A) The performer had been applauded at the 
ceremony by the audience.   
(B) The performer was applauded at the ceremony by 
the audience. 
(C) The performer is applauded at the ceremony by 
the audience.   
(D) The performer has been applauded at the 
ceremony by the audience. 
 

84. Select the word which means the same as the group 
of words given. 
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A recurrent urge to steal 
(A) dipsomania  (B) kleptomania 
(C) telekinesis  (D) aphasia 
 

Directions [85-89]: In the following passage some words have 
been deleted. Fill in the blank with the help of the 
alternatives given. Select the most appropriate option 
for each blank. 

 
Hunter-gatherers are the original knowledge workers, 
cultivating hard skills with decades of practice. Until 
the age of 20, hunter-gatherer kids don't pull their own 
weight, burning more calories than they themselves 
produce. But, once their skills are sharpened, they 
are extraordinarily productive, ___(A) ___ in a surplus 
that would be widely shared. For big game, most 
hunter-gatherers maintain strict social 
dictating ___(B) ___that everyone has a collective 
right to these resources. When our ancestors started 
to hunt and gather, they unwittingly stumbled upon 
the most ___(C) ___ and effective insurance policy 
ever known. 
The origins of hunting and gathering are___(D) 
___, but things began falling into place as far back as 
2 million years ago. That's when the game changed: 
with the help of increasingly sophisticated tools, we 
ruthlessly ___(E) ___new foods from savannas and 
woodlands. 
 

85.  Find the correct word in each case. 
(A) devouring  (B) diverting 
(C) hovering  (D) hauling 
 

86.  Find the correct word in each case. 
(A) assumptions  (B) norms 
(C) novice  (D) errands 
 

87.  Find the correct word in each case. 
(A) ensuing  (B) aloof 
(C) enduring  (D) acerbic 
 

88.  Find the correct word in each case. 
(A) meager  (B) morbid 
(C) murky  (D) morose 
 

89.  Find the correct word in each case. 
(A) amended  (B) extended 
(C) adjoined  (D) extracted 
 

90. In the following question, a sentence is given with a 
phrase or idiom in brackets. Select the option given 
below that can replace the bracketed phrase. 
The doctor advised me to (cut off) on salty and fried 
foods to reduce my cholesterol levels. 
(A) cut out for  (B) cut down 
(C) cut up  (D) No improvement 
 

91. Select the most appropriate option to substitute the 
underlined segment in the given sentence. If there is 
no need to substitute it, select No improvement. 
After working for hours, her energy began to give 
upto and she could barely keep her eyes open. 
(A) give up  (B) give off 
(C) give out  (D) No improvement 
 

92. Given below are four jumbled sentences. Out of the 
given option pick the one that gives their correct 
order. 
P. It would take possession of me completely, and my 
legs would become paralysed. 
Q. This handicap stayed with me as the years rolled 
by. 

R. And whenever I did, whether I was wading the 
Tieton or Bumping River or bathing in Warm Lake of 
the Goat Rocks, the terror would come back. 
S. A few years later, when I came to know the waters 
of the Cascades, I wanted to get into them. 
(A) QPSR  (B) SRPQ 
(C) PQRS  (D) RPQS 
 

93. In the following question, four different spellings of a 
word are given, out of which only one is correct. Find 
the correct spelling of the given word. 
(A) asidous  (B) assidous 
(C) asiduous  (D) assiduous 

 
94. In the following question, a sentence has been given 

in Direct/ Indirect speech. Out of the four alternatives 
suggested, select the one which best expresses the 
same sentence in Direct/ Indirect speech. 
The teachers told me that the school had been closed 
because of excessive heat. 
(A) The teachers said to me, "The school is being 
closed because of excessive heat." 
(B) The teachers said, "The school was closed 
because of excessive heat." 
(C) The teachers said to me, "The school has been 
closed because of excessive heat." 
(D) The teachers said, "The school has been closed 
because of excessive heat." 

 
95. Select the correct alternative out of the four which 

best expresses the meaning of the given word and 
indicate it by selecting the appropriate option. 
APEX 
(A) pinnacle  (B) depth 
(C) counsel  (D) warmth 
 

96. In the question given below, rearrange the parts of 
the sentence in the correct order, and choose the 
correct option. 
His sister 
P. and enjoys reading books 
Q. who is a voracious reader 
R. is a librarian 
(A) PQR   (B) QPR 
(C) QRP   (D) PRQ 
 

97. Out of the following choose the word which expresses 
the right meaning of the given word. 
Conspire 
(A) Cooperate  (B) Consistent 
(C) Collaborate  (D) Plot 

 
98. Select the correct alternative out of the four which 

best expresses the meaning of the given word and 
indicate it by selecting the appropriate option. 
NOXIOUS 
(A) edible  (B) tame 
(C) bland  (D) toxic 

 
99. Select the correct spelling of the word. 

(A) commitment  (B) comitment 
(C) commitment  (D) committmant 

 
100. In the following question, one part of the sentence 

may have errors. Find out which part of the sentence 
has an error and select the appropriate option. If the 
sentence is free from error, select option D, i.e. 'No 
error'. 
Part of why misinformation (A) / spreads so readily is 
that (B) / users are reward for popular posts. (C) / No 
error (D)   
(A) A   (B) B 
(C) C   (D) D 
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Quantitative Aptitude 

1. Answer: (A) 
Let the total work be 60 units. {LCM of 12, 15 and 20} 
So, efficiency of 'A' = 60 ÷ 12 = 5 units/day 
Efficiency of 'B' = 60 ÷ 15 = 4 units/day 
Efficiency of 'C' = 60 ÷ 20 = 3 units/day 
Work done by all of them together in 3 days  
= 3 × (5 + 4 + 3) = 3 × 12 = 36 units 
Remaining work = 60 – 36 = 24 unit 
Required time = 24/(5 + 3) = 3 days 
Hence, option a. 

2. Answer: (C) 
As 'O' is the centre of the circle 
So, ∠OAP = ∠OBP = 90∘[Radius of a circle makes 90° 
with tangent of the circle at the point of contact] 
So, ∠AOB = 360∘ − (90∘ × 2 + 36∘) As AOBP is a 
quadrilateral therefore sum of its angles will be equal 
to 360o] 
Or, ∠AOB = 360° - (180° + 36°) 

Or, ∠AOB = 360° - 216° 

Or, ∠AOB = 144° 
Hence, option c. 

3. Answer: (D) 
We know that, 
Unit digit of 4n = 4 (when 'n' is odd) and 6 (when 'n' is 
even) 
Unit digit of 3: 
31 = 3 
32 = 9 
33 = 7 
34 = 1 
Unit digit of 144 + 34 + 52 = unit digit of (6 + 1 + 5)  
= unit digit of 12 = 2 
Hence, option d. 

4. Answer: (C)  
Let the cost price of the article = Rs. '100x' 
Then, selling price when article is sold at loss of 8% =
100𝑥 × 0.92 =  Rs. 92𝑋 
According to the question, 
92𝑥 + 460 = 100𝑥 × 1.59 
Or, 460 = 115x - 92x = 23x 
So, x = 460 ÷ 23 = 20 
So, cost price of the article = = 100x = 100 ×
20 =  Rs. 2,000 

Therefore, percentage of profit earned = {(2440 −
2000) /2000} × 100 = 22% 
Hence, option c. 

5. Answer: (C)  
Since, OA is the radius and PA is the tangent 
Therefore, PA will be perpendicular to OA (tangent 
and radius meet at 90o at the point of contact) 
Therefore, in triangle PAO, using Pythagoras theorem 
PA2 + OA2 = PO2 
Or, PA2 = PO2 - OA2 = 252 - 72 = 576 
Or, PA = 24 (since, length cannot be negative 
therefore we will take the positive root only) 
Since, PA and PB are tangents from same point 
therefore, PA = PB = 24 cm 
Required perimeter = 24 + 24 + 7 + 7 = 62 cm 

6. Answer: (C)  
Total number of bottles sold by shop 'C' = 220 × 2  
= 440 
Number of Milton bottles sold by shop 'C'  
= 440 × 0.55 = 242 
Total number of bottles sold by shop 'D' = 180 × 2  
= 360 
Number of Borosil bottles sold by shop 'D'  
= 360 × 0.20 = 72 

Required percentage = 
242

72
× 100 = 336.11% 

7. Answer: (D) 
Let the sum invested be Rs. 'x'. 

Compound interest = x × {(1 + R/100)n - 1} (where 'R' 
= rate of interest and 'n' = time period) 
ATQ, 

1230 = x × {(1 +
5

100)
)

2

2
− 1}

Or, 1230 = x ×
21×21

(20×20
− 1)

Or, 1230 = x ×
41

400

So, 'x' = 12000

  

So, required sum = Rs. 12,000 
Hence, option d. 

8. Answer: (B) 

Given: 𝑥 +
𝑦

𝑥
= 7 

Or, 𝑥2 + 𝑦 = 7𝑥 ........ (I) 

Also, 
𝑥2+9𝑥+𝑦

4𝑥3−28𝑥2
=

7𝑥+9𝑥

4𝑥(𝑥2−7𝑥)
 

Or, 
16𝑥

4𝑥(𝑥2−7𝑥)
=

4

𝑥2−7𝑥
 

Using equation (I), we have; 
4

𝑥2−7𝑥
=

−4

𝑦
  

Hence, option b. 
9. Answer: (A)  

cos 𝐶 + cos 𝐷 = 2cos 
𝐶+𝐷

2
cos 

𝐶−𝐷

2

cos 75∘ + cos 15∘ = 2cos 
75+15

2
cos 

75−15

2

= 2cos 
90

2
cos 

60

2

= 2cos 45∘cos 30∘

= 2 ×
1

√2
×

√3

2

= √
3

2

  

Hence, option a. 
10. Answer: (B) 

Let the fourth proportion of 9, 18 and 27 be 'x'. 
So, (9/18) = (27/x) 
Or, x = 54 
So, third proportion of 'k' and 18 is 54 
So, (k/18) = (18/54) 
So, k = (18/3) = 6 
Or, 'k' = 6 
Hence, option b. 

11. Answer: (A)  
5 years ago, from now, sum of ages of all 7 friends  
= 7 × 12 = 84 years 
Sum of present ages of all 7 friends = 84 + 5 × 7  
= 119 years 
2 years hence from now, sum of ages of the original 
group of 7 friends = 119 + 2 × 7 = 133 years 
Sum of ages of all 7 friends of the new group  
= 133 - 13 + 20 = 140 years 
So, average age of the new group = 140 ÷ 7  
= 20 years 
Hence, option a. 

12. Answer: (A) 
Speed of the train = 450 ÷ 24 = 18.75 m/s 
So, time taken to cross the bridge  
= {(450 + 225) ÷ 18.75} = 36 seconds 

13. Answer: (B) 
Let the sum of marks obtained by given four students 
together be 100x. 
So, marks obtained by 'A' = 100x × 0.18 = '18x' 
marks obtained by 'C' = 100x × 0.30 = '30x' 
Average marks obtained by 'A' and 'C' together  
= (18x + 30x) ÷ 2 = 48x ÷ 2 = '24x' 
So, 24x = 144 
So, 'x' = 6 
So, required marks = 100x = 100 × 6 = 600 

14. Answer: (B)  
Respective ratio of profit shares of Anand and Amit  
= (1120 × 36) :(1200 × 30)  
= 40320:36000 
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= 28:25 
So, proportion of profit share of Amit out of total profit 
= {25/(28 + 25) } = (25/53)  
Hence, option b. 

15. Answer: (A) 
Number of students who scored marks between 40-
60 and 80-100 together = 210 + 110 = 320 

Required percentage = 
80

320
× 100 = 25% 

16. Answer: (A)  
Required value  

= √√128×
1

2 + 26 − 35

= √124×
1

2 ∣

= 122×(1/2) − 9
= 12 − 9
= 3

  

17. Answer: (A) 
Let the maximum marks be '100x' 
ATQ: 
100x × 0.32 + 52 = 100x × 0.45 
Or, 32x + 52 = 45x 
Or, 52 = 13x 
So, x = 4 
So, maximum marks = 100x = 100 × 4 = 400 
Hence, option a. 

18. Answer: (C)  
Let the total distance covered be '12d' km 
Distance travelled with the speed of 30 km/hr  
= 12d × (1/4) = '3d' km 
Distance travelled with the speed of 50 km/hr  
= 12d × (1/3) = '4d' km 
So, distance travelled with the speed of 75 km/hr  
= 12d - 4d - 3d = '5d' km 

So, total time taken =  
3𝑑

30
+

4𝑑

50
+

5𝑑

75
=

15𝑑+12𝑑+10𝑑

150
=

37𝑑

150
 

So, required average = 
 total distance 

 total time taken 
 

=
12𝑑
37𝑑

150

=
(12×150)

37
=

1800

37
= 48

24

37
km/hr  

19. Answer: (B)  

Given, p2 + 1 + 2p = 0  

Or, p2 + p + p + 1 = 0 
Or, 𝑝(𝑝 + 1) + 1(𝑝 + 1) = 0 

Or, (𝑝 + 1) (𝑝 + 1)  = 0 
So, p = -1 

So, 
4𝑝3−10𝑝

2𝑝2−7𝑝3 =
4×(−1) 3−10×(−1) 

2×(−1) 2−7×(−1) 3
 

=
−4+10

2+7
=

6

9
=

2

3

  

Hence, option b. 
20. Answer: (B) 

Let number of spheres formed be 'n'. 
Radius of the cylinder = (8/2) = 4 cm 
ATQ, 
volume of 'n' spheres = volume of solid cylinder 

𝑛 ×
4

3
𝜋 × 3 × 3 × 3 = 𝜋 × 4 × 4 × 81  

Or, n = (4 × 81) ÷ 9 
So, 'n' = 36 
So, number of solid spheres formed = 36 
Hence, option b. 

21. Answer: (D) 
Required value  

=
𝑥4−4𝑥3

5𝑥2−3𝑥3 =
𝑥2(𝑥2−4𝑥)

𝑥2(5−3𝑥)
  

=
(𝑥2−𝑥−3𝑥)

(5−3𝑥)
=

(5−3𝑥)

(5−3𝑥)
= 1  

Hence, option d. 
22. Answer: (A) 

Formula: a3 - b3 = (a - b)(a2 + b2 + ab) 

Required value = 
2.1×2.1×2.1−1.2×1.2×1.2

2.1×2.1+1.2×1.2+2.1×1.2
  

=
(2.1−1.2)(2.12+1.22+2.1×1.2)

2.12+1.22+2.1×1.2
= 0.9  

23. Answer: (B) 
x + 1/x = 4 
Squaring both sides, we get 
(x + 1/x)2 = 16 

Or, x2 + 
1

𝑥2
 + 2 = 16 

Or, x2 + 
1

𝑥2
 = 14 

Again, squaring both sides, we get 

(x2 + 
1

𝑥2
)2 = 196 

Or, x4 + 
1

𝑥4
 + 2 = 196 

So, x4 + 
1

𝑥4
 = 194 

24. Answer: (D)  
𝑥−2𝑥tan2 45∘

2+tan2 45∘
= sin2 45∘ + cot2 30∘ − 5cos2 30∘  

Or, 𝑥 ×
1−2×1

(2+1)
= (

1

√2
)

2
+ (√3)2 − 5 × (

√3

2
)

2

 

Or, 𝑥 × (−
1

3
) =

1

2
+ 3 − 5 ×

3

4
 

Or, −
𝑥

3
=

7

2
−

15

4
  

Or,  −
𝑥

3
=

−1

4
 

So, 'x' = 0.75 
25. Answer: (B)  

Let the radius of the sphere be 'r' cm. 
For maximum volume of the sphere, diameter of the 
sphere will be equal to the length of the edge of the 
cube. 
So, radius of the sphere = (6.3/2) cm 

So, Required volume = 
4

3
𝜋 × 𝑟3 

=
4

3
×

22

7
× (6.3/2) × (6.3/2) × (6.3/2)  

= 130.977 cm3 

Reasoning Aptitude               

26. Answer: (B)  
The correct dictionary order will be: 
2- Concept, 5- Connect, 6- Conquer, 4- Conserve, 1- 
Contour, 3- Convent 
So, '2, 5, 6, 4, 1, 3' represents the correct dictionary 
order of the given words. 

27. Answer: (A) 
I. 44 ÷ 12 × 4 - 6 + 11 = 94 
After interchanging the signs and digits in (I), we get: 
44 ÷ 4 + 12 - 6 × 11 = 94 
11 + 12 - 6 × 11 = 94 
11 + 12 - 66 = 94 
23 - 66 = 94 
-43 ≠ 94 
II. 96 ÷ 4 + 15 - 12 × 2 = 50 
After interchanging the signs and digits in (II), we get: 
96 ÷ 12 × 15 - 4 + 2 = 50 
8 × 15 - 4 + 2 = 50 
120 - 4 + 2 = 50 
122 - 4 = 50 
118 ≠ 50 
Therefore, by interchanging the given two signs and 
numbers in both the equations, both equation I and II 
will be incorrect. 
Hence, option a. 

28. Answer: (C) 
The logic followed here is: 
The 1st number is divided by 1.5 to get the 
2nd number. 
In option 'a', (54 ÷ 1.5) = 36 
In option 'b', (72 ÷ 1.5) = 48 
In option 'c', (84 ÷ 1.5) = 56 ≠ 46 
In option 'd', (66 ÷ 1.5) = 44 
Therefore, all of the above options follow the same 
logic except option 'c'. 
Hence, option c. 
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29. Answer: (C) 
The embedded figure is shown below, 

 
Hence, option c. 

30. Answer: (D) 
The logic followed here is: 
The 1st and 2nd letters are interchanged and the 
3rd and 4th letters are interchanged, then their third 
preceding letters are written as in the English 
Alphabetical series. In 1st and 2nd letter cluster, 
'CALM' is written as 'XZJI' 

C A L M 

A C M L 

3 -3 -3 -3 

X Z J I 

Similarly, in 3rd and 4th letter cluster, 'WENT' is written 
as 'BTQK' 

W E N T 

E W T N 

3 3 3 3 

B T Q K 

Therefore, in 5th and 6th letter cluster, 'RUSK' will be 
written as 'ROHP' 

R U S K 

U R K S 

-3 -3 -3 -3 

R O H P 

As, 'CALM' is coded as 'XZJI' and 'WENT' is coded as 
'BTQK' in the same way 'RUSK' will be coded as 
'ROHP'. 

31. Answer: (D) 

 
Conclusions: 
I. Some Colours are Arts: Doesn't follow (As, there is 
not direct relation between Colours and Arts. So, no 
definite conclusion follows) 
II. No Colours are Arts: Doesn't follow (As, there is no 
direct relation between Colours and Arts. So, no 
definite conclusion follows) 
III. All Paints are Colours: Doesn't follow (As, there is 
no direct relation between Paints and Colours. So, no 
definite conclusion follows) 
But conclusion I and conclusion II forms a 
complimentary pair. So, either conclusion I or 
conclusion II follows. 
Hence, option d. 

32. Answer: (A)  
The pattern followed here is: 
The 2nd letter is the 3rd preceding letter of the 1st letter 
and the 3rd letter is the 3rd succeeding letter of the 
1st letter as per the English alphabetical series. 
In option 'A': 1st letter = K, 2nd letter = K - 3 = H, 
3rd letter = K + 3 = N ≠ M 
In option 'B': 1st letter = D, 2nd letter = D - 3 = A, 
3rd letter = D + 3 = G 
In option 'C': 1st letter = S, 2nd letter = S - 3 = P, 
3rd letter = S + 3 = V 
In option 'D': 1st letter = Q, 2nd letter = Q - 3 = N, 
3rd letter = Q + 3 = T 
So, 'KHM' is different. 

33. Answer: (A) 
Given series: 

17, 26, 51, ?, 221, 390 
The logic followed here is the difference between the 
consecutive numbers from the left end is the square 
of consecutive prime numbers starting from 3 as 
shown below. 
17 + 3² = 17 + 9 = 26 
26 + 5² = 26 + 25 = 51 
51 + 7² = 51 + 49 = 100 
100 + 11² = 100 + 121 = 221 
221 + 13² = 221 + 169 = 390 
So, '100' will come in place of question mark. 
So, the complete series is: 
17, 26, 51, 100, 221, 390 

34. Answer: (A)  
Given Series: HUGE, MBAW, RIUO, WPOG, ?, 
GDCQ 
The logic followed here is shown below: 

H U G E 

+5 +7 - 6 - 8 

M B A W 

+5 +7 - 6 - 8 

R I U O 

+5 +7 - 6 - 8 

W P O G 

+5 +7 - 6 - 8 

B W I Y 

+5 +7 - 6 - 8 

G D C Q 

So, BWIY is the missing term in the given series. 
Hence, option a. 

35. Answer: (C) 
Given: 

 
The logic followed here is as follows, 
II is the mirror image of I. Similarly, IV is the mirror 
image of III 
Thus, the figure that will replace the question mark is 
as follows: 

 
The complete figure is as follows: 

 
Hence, option c. 

36. Answer: (C)  
The pattern followed here is as follow: 
Place value of 2nd letter and 2nd last letter are 
multiplied to get the coded number of the word. 
In ENGLAND, 

E N G L A N D 

5 14 8 12 1 14 4 

Multiplying place value of 2nd and last 2nd letter = 14 × 
14 = 196 
In WORRIED, 
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W O R R I E D 

23 15 18 18 9 5 4 

Multiplying place value of 2nd and last 2nd letter = 15 × 
5 = 75 
Similarly, in HIEST, 

H I E S T 

8 9 5 19 20 

Multiplying place value of 2nd and last 2nd letter = 9 × 
19 = 171 
So, 'HIEST' is coded as '171'. 
Hence, option c. 

37. Answer: (A)  
Starting Point: Start with B5, B1, and B6, to form 
minimum number of cases. 
Clues: 
1) B5 is three boxes above B1 such that both are 
prime numbered boxes. 
2) There is one box between B5 and B6. 
3) B3 is two boxes above B2. B2 is an odd numbered 
box. 
4) B7 is above B4. 
Inferences: 
From clue 1, B5 and B1 are 5th box and 2nd box 
respectively. 
From clue 2, B6 is either the 7th box or the 3rd box. 
Case 1: B6 is the 7th box. 
From clue 3, B3 and B2 are the 1st box and the 
3rd box respectively. 
From clue 4, B7 and B4 are the 6th box and the 
4th box respectively. 
Case 2: B6 is the 3rd box. 
From clue 3, this case can be rejected as the only 
position available for B3 and B2 are the 6th box and 
the 4th box respectively. This however violates clue 
'3'. 
The final arrangement is as follows: 

Box Number Box 

7 B6 

6 B7 

5 B5 

4 B4 

3 B3 

2 B1 

1 B2 

There are three boxes below B4. 
38. Answer: (B)  

The pattern followed here is: 
The 3rd number is half of the absolute difference of 
the 1st and 2nd number. 
In (65, 39, 13), 
1st number = 65, 2nd number = 39, 3rd number  
= (65 - 39) ÷ 2 = 13 
In (32, 14, 9), 
1st number = 32, 2nd number = 14, 3rd number  
= (32 - 14) ÷ 2 = 9 
In option 'A', (41, 19, 9): 
1st number = 41, 2nd number = 19, 3rd number  
= (41 - 19) ÷ 2 = 11 ≠ 9 
In option 'C', (53, 21, 14): 
1st number = 53, 2nd number = 21, 3rd number  
= (53 - 21) ÷ 2 = 16 ≠ 14 
In option 'D', (26, 8, 11): 
1st number = 26, 2nd number = 8, 3rd number  
= (26 - 8) ÷ 2 = 9 ≠ 11 
All combination of numbers doesn't follow this pattern 
except for (40, 18, 11). 
In option 'B', (40, 18, 11): 
1st number = 40, 2nd number = 18, 3rd number  
= (40 - 18) ÷ 2 = 11 

That means all combinations of numbers except 
option B (40, 18, 11) do not follow this pattern. 

39. Answer: (B) 
The logic followed here is: 
1st, 3rd and 5th letters of the words are replaced by 
their 4th succeeding letters, 2nd, 4th and 6th letters of 
the words are replaced by 5th succeeding letters, as 
per English Alphabetical series. 
As 'STORED' is coded as 'WYSWII' 

S 
[19] 

T [20] O 
[15] 

R 
[18] 

E 
[5] 

D 
[4] 

+4 +5 +4 +5 +4 +5 

W Y S W I I 

'LAMENT' is coded as 'PFQJRY' 

L {12] A 
[1] 

M [13] E 
[5] 

N [14] T [20] 

+4 +5 +4 +5 +4 +5 

P F Q J R Y 

Similarly, 
'RECALL' is coded as 'VJGFPQ' 

R [18] E [5] C [3] A [1] L [12] L [12] 

+4 +5 +4 +5 +4 +5 

V J G F P Q 

As 'STORED' is coded as 'WYSWII' and 'LAMENT' is 
coded as 'PFQJRY' in the same way 'RECALL' is 
coded as 'VJGFPQ'. 
Hence, option b. 

40. Answer: (A) 
Dholavira is in Gujarat. Similarly, Hampi is in 
Karnataka. 
Hence, option a. 

41. Answer: (B) 
Given relation: C % D & E $F # G & H 
After decoding the given coded relation, we get 
C is daughter of D and E. E is son of F and brother of 
G. G is wife of H. 
We make the following family tree. 

 
G is sister-in-law of D.  

42. Answer: (A) 
When we write the letters in clockwise direction from 
'A' of position '2' and '3'. 
From position 2: #, !, % 
From position 3: #, @, % 
So, '@' will be on opposite face of the face having '!'. 
Hence, option a. 

43. Answer: (C) 
The logic followed here is the difference between the 
place value of any two consecutive letters is a prime 
numbers. 
In option 'A': FINP 
I(9) - F(6) = 3, N(14) - I(9) = 5, P(16) - N(14) = 2 
In option 'B': ORTY, 
R(18) - O(15) = 3, T(20) - R(18) = 2, Y(25) - T(20) = 5 
In option 'C': CHKO, 
H(8) - C(3) = 5, K(11) - H(8) = 3, O(15) - K(11) = 4 
In option 'D': ELQT 
L(12) - E(5) = 7, Q(17) - L(12) = 5, T(20) - Q(17) = 3 

44. Answer: (B)  
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Triangles are: AHB, AHG, AGB, AHI, AIB, BIG, IHG, 
BHF, HBG, BGF, CJD, CED, DJE, DBF, JEF and 
DEF. 
So, there are 16 triangles in the given figure. 
Hence, option b. 

45. Answer: (C) 
Given word: 
INVALIDATION 
NATIONAL can be formed using the letters of the 
word INVALIDATION. 
AVIATION can be formed using the letters of the word 
INVALIDATION. 
INITIALS cannot be formed using the letters of the 
given word, as there is no 'S' in INVALIDATION. 
VALIANT can be formed using the letters of the word 
INVALIDATION. 
Hence, option c. 

46. Answer: (C) 
If mirror is placed to the right of the figure, 

 
Hence, option c. 

47. Answer: (B) 
Given series: 
7 _ _ 4 5 _ 2 7 6 8 _ 5 3 _ _ 6 _ _ 5 3 2 7 _ 8 4 _ _ 2 
The complete series will be: 
7 6 8 4 5 3 2 / 7 6 8 4 5 3 2 / 7 6 8 4 5 3 2 / 7 6 8 4 5 
3 2 
So, '6, 8, 3, 4, 2, 7, 8, 4, 6, 5, 3' will complete the 
series. 
Hence, option b. 

48. Answer: (B) 
The logic followed here is as follows: 
The words are coded as the sum of the positional 
value of the 1st and 2nd letter of the given word from 
the left end. 
As 'EARN' is coded as '6' 

E A R N 

5 1   

Code = 5 + 1 = 6 
'SOLD' is coded as '34' 

S O L D 

19 15       

Code = 19 + 15 = 34 
Similarly, 

T R A P 

20 18        

Code = (20 + 18) = 38 
So, 'TRAP' is coded as '38'. 
Hence, option b. 

49. Answer: (D)  
Given class: Prime numbers, Whole numbers, 
Irrational numbers. 
All Prime numbers are Whole numbers. No Whole 
number is an Irrational number. 
So, the Venn diagram that best represents the 
relationship between 'Prime numbers', 'Whole 
numbers' and 'Irrational numbers' is as follows, 

 
50. Answer: (D)  

1444 was a leap year. 

So, 258 (28 + 31 + 30 + 31 + 30 + 31 + 31 + 30 + 16) 
days had passed till 16th October, 1444. 
The days of the week repeat itself after 7 days. 
Number of odd days = 6 
So, on 16th October, 1444 it was Wednesday. 

General Studies            

51. Answer: (B) 
Vijayalaya was the founder of the Imperial Chola 
dynasty which was the beginning of one of the most 
splendid empires in Indian history. 
The Chola Empire was a Tamil Thalassocratic empire 
of Tamilakam and was ruled by one of the longest-
ruling dynasties in world history. The earliest datable 
references to the Chola are from inscriptions dated to 
the 3rd century BCE during the reign of Ashoka of the 
Maurya Empire. 

52. Answer: (D) 
Dhalo dance is one of the most famous rural dances 
of Goa, India. 
· The dance is performed by women and serves as a 
prayer of protection for their households. 
· The songs to which the dance is performed are 
usually sung in Konkani language or Marathi. 

53. Answer: (C)  
The capital outlay for the Railways has been 
increased to the highest-ever Rs.2.40 lakh crore in 
the Union Budget for 2023-24. 
The outlay for the railways is nine times the amount 
provided in 2013-2014. 

54. Answer: (A) 
On July 27, 1921, Canadian doctors Frederick 
Banting and Charles Best successfully isolated the 
hormone insulin, one of the most important 
breakthroughs in treating diabetes. 
Banting & Macleod got Nobel Prize (1923) for this 
scientific research. Insulin hormone is related to the 
regulation of glucose in the blood. 

55. Answer: (A) 
In the court of Kanishka I, the poet Ashvaghosha 
composed the biography of the Buddha (Buddha 
Charita). He was a philosopher and poet. 
He was the first dramatist who used Sanskrit in the 
composition of plays. 

56. Answer: (A) 
Ranganath Mishra Commission: 
· It is officially known as National Commission for 
Religious and Linguistic Minorities. 
· It was formed to look into various issues related to 
linguistic and religious minorities in the country. 
· The committee in his report (2007) recommended 
that Scheduled caste status be completely delinked 
from religion and be made religion-neutral like 
Scheduled Tribes (STs). 
· It had recommended permitting Dalits who 
converted to Islam and Christianity to avail Scheduled 
Caste status. 

57. Answer: (B) 
Vayudoot was a regional airline in India established 
on 20 January 1981 as a joint venture between two 
state-owned carriers, Indian Airlines, and Air India. 
The airline was headquartered at New Delhi's 
Safdarjung Airport. 

58. Answer: (A) 
Hima Das (born 9 January 2000), nicknamed Dhing 
Express, is an Indian sprinter from the state of 
Assam. 
Hima Das is a 19-year-old Indian sprinter from the 
state of Assam. Hima Das is associated with track 
and field in athletics. 

59. Answer: (D) 
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Article 148 - Comptroller and Auditor-General of 
India. 
CAG is an independent authority under the 
Constitution of India. 
He is the head of the Indian audit & account 
department and chief Guardian of Public purse. 
According to this Article There shall be a Comptroller 
and Auditor-General of India who shall be appointed 
by the President by warrant under his hand and seal 
and shall only be removed from office in like manner 
and on like grounds as a Judge of the Supreme 
Court. 

60. Answer: (D) 
The Davis Cup, the tennis equivalent of the football 
World Cup, was named after American collegian 
Dwight Filly Davis. 
Davis Cup, trophy awarded to the winner of an annual 
international lawn-tennis tournament originally for 
amateur men's teams. 
The Davis Cup is the World Cup of tennis. It is the 
largest annual international team competition in world 
sport and was founded in 1900 by Dwight Davis. 

61. Answer: (B) 
During the medieval period, Himroo material was 
used for royal dresses and shawls in the courts of 
Muslim rulers. Even today, Himroo shawls are very 
popular. They are made in Aurangabad, Maharashtra. 

62. Answer: (C) 
The Geographical Indication (GI) tag has been 
granted by the Ministry of Commerce & Industry to 
several products of Madhya Pradesh (MP), which 
include 5 handcrafts product, 1 Agricultural product, 1 
Food stuff, & 1 Textile product. 
Handicrafts product: 
· Gond Painting (Dindori) 
· Gwalior Handmade Carpet 
· Bhedaghat stone craft (Jabalpur) 
· Wrought iron crafts (Dindori) 
· Waraseoni handloom sarees & fabrics (Balaghat) 
Agricultural product: Sharbati Gehu (wheat which 
is also called The Golden Grain) is a regional variety 
of wheat grown in Sehore and Vidisha districts. 
Food stuff: Morena Gajak, a kind of sweet, has 
received the GI tag in the food ingredient category. 
Textile: Ujjain Batik print has received the GI tag in 
the textile category. 

63. Answer: (A) 

Post Oath Resignation 

President of 
India 

Chief Justice 
of India 

Vice President 

Vice President 
of India 

President President 

Governor of 
the state 

Chief Justice 
of the High 
Court 

President 

Chief Justice 
of India 

President President 

Prime Minister 
of India 

President President 

Speaker of Lok 
Sabha 

No oath Deputy Speaker 

64. Answer: (B)  
Uploading means sending data or a file from your 
computer to somewhere on the Internet. 
It helps to transfer data from the customer's machine 
to the server. 

65. Answer: (A)  
Intensive Agriculture district programme (1960) 
The Intensive Agriculture District Programme (IADP) 
was launched as the first major experiment in 
intensive agriculture development in the year 1960. 

The inadequate rate of growth of agriculture during 
the 1950s was a matter of serious concern to the 
government. 
The steep fall in crop production in the drought year 
1957-58 focused attention on the seriousness of the 
food situation up substantially. 

66. Answer: (D) 
First Plan (1951 - 1956): 
· The first Indian Prime Minister Jawaharlal Nehru, 
presented the First Five-Year Plan to the Parliament 
of India. 
· The First Five-year Plan was launched in 1951 
which mainly focused in the development of the 
primary sector. 
· The First Five-Year Plan was based on the Harrod - 
Domar model with few modifications. 
· The motto of the first five years plan 
was 'Development of agriculture'. 
· Rebuilding the country after independence was the 
vision of this plan. 
Note: The Second Five-Year Plan followed the 
Mahalanobis model. 

67. Answer: (B)  
A scalar quantity is a physical quantity that has 
magnitude (size or numerical value) only, without any 
associated direction. Scalar quantities are fully 
described by their magnitude and appropriate units. 
Some examples of scalar quantities include: 
· Temperature 
· Mass 
· Time 
· Speed 
· Energy 
· Work 
A vector quantity is a physical quantity that has both 
magnitude and direction. Vectors are represented by 
arrows, where the length of the arrow represents the 
magnitude, and the direction of the arrow represents 
the direction of the quantity. 
Some examples of vector quantities include: 
· Displacement 
· Velocity 
· Force 
· Acceleration 
· Momentum 

68. Answer: (B) 
Khusrau Khan, an 18th-century figure of the Mughal 
Empire has been identified by modern scholarship as 
the inventor of the sitar. 
· He was a poet as well as a prolific musician. 
· He was a devout follower of Nizamuddin Auliya. 
· He composed in various languages- Persian, 
Turkish, Arabic, Braj basha, Hindavi. 
· He is believed to have given rise to the musical 
forms of Khayal and Tarana. 
· He invented sitar and table. 

69. Answer: (C) 
The crust is the outermost layer of Earth. 
Earth has three layers: the crust, the mantle, and the 
core. The crust is made of solid rocks and minerals. 
Beneath the crust is the mantle, which is also mostly 
solid rocks and minerals, but punctuated by malleable 
areas of semi-solid magma. At the center of the Earth 
is a hot, dense metal core. 

70. Answer: (C) 
The All-India Muslim League (AIML) was a political 
party established in Dhaka in 1906 when some well-
known Muslim politicians met the Viceroy of British 
India, Lord Minto, with the goal of securing Muslim 
interests on the Indian subcontinent. 

71. Answer: (A) 
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A barometer is a scientific instrument used to 
measure atmospheric pressure, also called 
barometric pressure. 
The atmosphere is the layers of air wrapped around 
Earth. That air has a weight and presses against 
everything it touches as gravity pulls it to Earth. 
Barometers measure this pressure. 

72. Answer: (C) 
The Indian Air Force (IAF) contingent comprising 
four Rafale, two C-17, two ll-78 aircraft and 165 air 
warriors have recently participated in Exercise Orion, 
a multinational exercise hosted by France, held at 
Mont-de-Marsan, an Air Force base of the French Air 
and Space Force (FASF). 
· The exercise has been conducted from 17 April to 
05 May 2023. 
· This is the first overseas exercise for the IAF's 
Rafale aircraft. 
· Air Forces from Germany, Greece, Italy, 
Netherlands, United Kingdom, Spain and United 
States of America have also participated in the 
exercise. 

73. Answer: (A) 
Torque is a measure of the force that can cause an 
object to rotate about an axis. 
Torque = Force × perpendicular distance. 
SI unit of Torque is = Newton metre 

74. Answer: (C) 
Earth's atmosphere has five major and several 
secondary layers. From lowest to highest, the major 
layers are the troposphere, stratosphere, 
mesosphere, thermosphere, and exosphere. 

75. Answer: (C) 
Genghis Khan (1162 - 1227 C.E.), the founder of 
the Mongol Empire, is widely regarded as one of the 
most successful military commanders in world history. 
· Genghis Khan is also known as Chinggis Khan. 
· In 1227, Genghis Khan died while besieging the 
rebellious Western Xia; his third son and heir √gedei 
succeeded him to the throne two years later. 

English Language 

76. Answer: (D)  
WITHER means to perish or die. BLOOM (thrive and 
grow) will be its antonym. 
Wed - marry. Satiate - fulfill. Resist - oppose. 

77. Answer: (C) 
In C, replace the base form OVERWHELM with the 
past participle form OVERWHELMED as the latter 
part of the sentence is in passive voice. Thus, C is the 
right answer. 

78. Answer: (C) 
PREROGATIVE means an exclusive benefit or 
privilege given to a person or group. PRIVILEGE is its 
synonym. Thus, C is the right answer. 
Immaculate - perfectly clean, neat, or tidy. Destitute - 
poor; bankrupt. Dotage - the period of life in which a 
person is old and weak. 

79. Answer: (A)  
The idiom DRIVE A HARD BARGAIN means to 
negotiate effectively. 
None of the other options correctly explain the 
meaning of the idiom. 

80. Answer: (C) 
The word COGNISANCE means knowledge or 
awareness about something. The word IGNORANCE 
(lack of knowledge or information) expresses the 
opposite meaning of the given word. Thus, C is the 
right answer. 
HEED - attention. 
INITIATION - the action of beginning something. 
NOTION - a belief or idea about something. 

81. Answer: (B)  
We need the base form of a verb to complete the 
infinitive structure TO + VERB. The sentence seeks to 
convey that the new manager is determined to 
increase the productivity and efficiency of the 
company through innovative strategies. AUGMENT 
(increase or improve) is the most suitable word in this 
context. Thus, B is the right answer. 
The remaining words are contextually incorrect. 
SUBDUE - to bring under control or overcome. 
HINDER - to obstruct or prevent progress. 
IMPEDE - to slow down or prevent an activity from 
making progress. 

82. Answer: (C)  
We need an adjective to modify the noun MENU. The 
sentence seeks to convey that the restaurant's menu 
caters to a variety of dietary needs. INCLUSIVE 
(covering everything or all types of things) will fit here. 
Thus, C is the right answer. 
The remaining options are contextually incorrect. 
PATHETIC - arousing pity,especially through 
vulnerability or sadness. 
LIMITED - restricted in size, amount, or extent. 
OBSCURE - not discovered or known about; 
uncertain. 

83. Answer: (B) 
The sentence is in the indicative mood, simple past 
tense, and active voice. To change the sentence to 
the passive voice, follow the rules below: 
I. The object clause will become the subject clause. 
The object, THE PERFORMER will change to the 
subject of the sentence and start the sentence. 
II. The verb APPLAUDED will change to WAS 
APPLAUDED, as the passive construction for the 
simple past tense in the indicative mood is WAS/ 
WERE + PAST PARTICIPLE. 
III. The preposition BY will be added to the sentence, 
and THE AUDIENCE will become its object. 
Thus, B is the right answer. 

84. Answer: (B)  
(b) is the right answer. A recurrent urge to steal is 
known as KLEPTOMANIA. 
Telekinesis - the supposed ability to move objects at 
a distance by mental power. Aphasia - a disorder that 
affects how you communicate. Dipsomania- 
irresistible cravings for alcohol. 

85.  Answer: (D)  
We need a verb to link the subject pronoun THEY 
with the noun SURPLUS. HAULING (moving or taking 
something) will fit here as the sentence tells us how 
the hunter gatherer took in the surplus so that it could 
be shared with others. Thus, D is the right answer. 
Devouring - eating. Diverting - turning away. Hovering 
- floating. 

86.  Answer: (B)  
We need a noun to be modified by the adjective 
STRICT. NORMS (socially enforced rules) will fit here 
as the sentence talks about how the hunter gatherers 
maintained strict rules and expectations. Thus, B is 
the right answer. 
Assumptions - guesses. Novice - beginner. Errands - 
tasks. 

87.  Answer: (C)  
We need an adjective to modify the noun POLICY. 
ENDURING (long lasting) will fit here as the sentence 
talks about how our ancestors accidentally discovered 
the most long lasting and effective insurance policy 
ever known. Thus, C is the right answer. 
Ensuing (v.) - following. Aloof - distant. Acerbic - 
bitter. 

88.  Answer: (C)  
We need an adjective to modify the noun ORIGINS. 
MURKY (dark and gloomy) will fit here as the 
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sentence tells us that the origins of hunting and 
gathering were not very clear. Thus, C is the right 
answer. 
Meager - small. Morbid - unhealthy. Morose - sad. 

89.  Answer: (D)  
We need a verb to link the subject pronoun WE with 
the object FOODS. EXTRACTED (removed) will fit 
here as the sentence describes how we took out new 
foods from savannahs and grasslands. Thus, D is the 
right answer. 
Amended - modified. Extended - expanded. Adjoined 
- added something. 

90. Answer: (B) 
CUT DOWN ON (to reduce consumption) will fit here 
contextually as the sentence tells us how the speaker 
was advised to reduce intake of salty and fried foods. 
Thus, B is the right answer. 
Cut off - ended contact. Cut out for - to be good at 
something. Cut up - to be very sad about something. 

91. Answer: (C) 
The sentence seeks to convey that the person's 
energy was completely used up, and she had no 
energy left to even keep her eyes open. The phrase 
GIVE OUT (to be completely used up) can replace 
the underlined phrase in the given sentence. 
Thus, C is the correct answer. 
Give up - to stop doing something that you were 
doing before. 
Give off - to produce something such as heat, light, or 
a smell. 
Give upto is grammatically incorrect. 

92. Answer: (B) 
SRPQ is the correct order of the sentences. SR is a 
mandatory pair. S begins the paragraph by telling us 
about the narrator's desire to get into the water of the 
Cascades, and R follows and tells us that whenever 
he went into the water, he felt the terror come back. P 
follows R because it tells us about the narrator's 
experience when he underwent the terror. Q follows P 
and concludes the paragraph by stating that this 
experience kept repeating for many years. Thus, B is 
the right answer. 

93. Answer: (D) 
The correct spelling of the word is ASSIDUOUS 
(careful and diligent). Thus, D is the right answer. 

94. Answer: (C) 
The sentence is in indirect speech. Follow the 
instructions below to convert a sentence from indirect 
to direct speech: 
I. Add the comma and inverted commas, and remove 
THAT. 
II. Replace TOLD with SAID TO. 
III. The past perfect tense verb HAD BEEN CLOSED 
will change to the present perfect tense verb HAS 
BEEN CLOSED. 

Thus, C is the right answer. 
95. Answer: (A) 

The word APEX means the highest point or most 
successful part of something. The word PINNACLE 
(the most successful part of something) best 
expresses the meaning of the given word. Thus, A is 
the right answer. 
DEPTH - the distance from the surface to the bottom 
of something. 
COUNSEL- advice. 
WARMTH - the quality of being high in temperature 
but not so hot that it is uncomfortable. 

96. Answer: (B)  
The correct sequence of the parts of the sentence is 
QPR. The given part establishes the subject of the 
sentence, HiS SISTER. QP forms a relative clause 
and follows the given part as a pair. Q will follow the 
given part, as the relative pronoun WHO refers to the 
subject, HIS SISTER, and tells us that she is a 
voracious reader, and P will follow Q as it adds to the 
information given in Q. R will follow P as the linking 
verb IS has been used for the subject. It tells us that 
HER SISTER is a librarian. 

97. Answer: (D) 
The word CONSPIRE means to secretly plan with 
others to do something harmful or illegal. The word 
PLOT (to plan secretly with others to do something) 
expresses the right meaning of the given word. 
Thus, D is the right answer. 
COOPERATE - to work together with someone. 
CONSISTENT - staying the same, not varying. 
COLLABORATE - to work jointly on an activity or 
project. 

98. Answer: (D) 
The word NOXIOUS means poisonous or harmful. 
The word TOXIC (poisonous or causing harm) best 
expresses the meaning of the given word. Thus, D is 
the right answer. 
EDIBLE - suitable to be eaten. 
TAME - not wild or dangerous. 
BLAND - lacking flavour or taste. 

99. Answer: (C)  
The correct spelling of the given word is 
COMMITMENT, which means promise or dedication 
to something.  

100. Answer: (C) 
The error is in part C of the sentence. The base verb 
REWARD should be replaced with REWARDED, as 
the passive voice structure ARE + VERB takes the 
past participle form of the verb. Thus, C is the right 
answer. 
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            उम्मीदवारो ों को निदेश   

प्रश्ो ों को हल करिे से पहले निम्ननलखित निदेशो ों को ध्याि से पढ़ें। 

(1) इस पुस्तिका में 100 प्रश् हैं, जो कक कुल 4 भागो ों में किभाकजत हैं। 

 भाग -(I)   : Quantitative Aptitude     (25 प्रश्) 

भाग -(II)  : Reasoning Aptitude     (25 प्रश्) 

भाग -(III) : General Studies      (25 प्रश्) 

 भाग -(IV) : English Language      (25 प्रश्) 

(2) सभी प्रश्न अकििार्य हैं तथा सबके बराबर अंक हैं। 

(3) प्रश्नो ंको हल करिा प्रारम्भ करिे से पहले आपको इस पुस्तिका की जांच करिी चाकहए और र्ह सुकिकित करिा चाकहए कक इसमें सभी पृष्ठ 

उपस्तथथत हैं और कोई पृष्ठ कम र्ा बदला हुआ िही ंहै। अगर आपको इस पुस्तिका में कोई दोष कमलता है , तो आपको तुरंत इसे बदलिा 

होगा। 

(4) प्रते्यक प्रश् में िकारात्मक अोंकि होता है क्ोोंनक प्रते्यक गलत उत्तर के नलए 0.5 अोंक काट नदया जाएगा। 

(5) आपको निरीक्षक द्वारा उत्तर पुस्तिका अलग से दी जाएगी। आपको प्रश्ोों को हल करिा प्रारम्भ करिे से पहले अपिा िाम, रोल िोंबर, टेस्ट 

िाम /आईडी और/परीक्षा का िाम उत्तर-पुस्तिका पर सावधािीपूववक पूरा करिा होगा। आपको उत्तर-पुस्तिका में निधावररत स्थाि पर 

अपिा हिाक्षर भी करिा होगा। इि निदेशोों का पूरी तरह से पालि नकया जािा चानहए, नजसको ि करिे पर आपकी उत्तर-पुस्तिका का 

मूल्ाोंकि िही ों नकया जाएगा और आपको ‘शून्य ‘अोंक नदया जाएगा।  

(6) उत्तर केिल पेंनसल या बै्लक  /बू्ल बॉल पेि  द्वारा उत्तर -  पुस्तिका प्रासंकगक प्रश्न संख्या के समं्बकित गोले को पूरी तरह से बै्लक करके 

कदखार्ा जािा चाकहए। 

(7) OMR उत्तर पुस्तिका को एक मशीि द्वारा जांचा जारे्गा। र्कद ककसी स्तथथकत में उपलब्ध जािकारी, आिेदि पत्र में दी गर्ी जािकारी से 

अलग पार्ी गर्ी, तो आिेदक का आिेदि किरि कर कदर्ा जारे्गा।  

(8) किरीक्षक की अिुमकत कमलिे के बाद ही कोई परीक्षा कक्ष छोड़ सकता है। 

(9) उपरोक्त में से नकसी भी निदेश का अिुपालि करिे में नवफल उम्मीदवार को उपयुक्त कायववाही/जुमाविा के नलए उत्तरदायी समझा जा 

सकता है।  

(10)  कजतिी जल्दी हो सके उतिी जल्दी और साििािी से प्रश्नो ंका उत्तर दें। कुछ सिाल ककिि हो सकते हैं और दूसरे आसाि हो सकते हैं। 

ककसी भी प्रश्न पर ज्यादा समर् िही ंकबताएं।  

(11)  मोबाइल फोि और िार्रलेस संचार उपकरण, परीक्षा कक्ष /कमरे में पूरी तरह से प्रकतबंकित  हैं। कोई भी आिेदक अपिे मोबाइल का र्ा 

ककसी िार्रलेस संचार उपकरण को बंद करके भी अपिे पास िही ंरख सकता। किर्म का उलं्लघि करिे पर आिेदक के किरूद्ध उकचत 

कार्यिाही की जारे्गी और उसका आिेदि भी किरि ककर्ा जा सकता है। 

(12)  उत्तर-पत्र पर कोई रफ काम िही ंककर्ा जािा चाकहए। 

(13)  कोई भी उम्मीदिार परीक्षा पूरा होिे से पहले परीक्षा कक्ष िही ंछोड़ सकता है। 

        

जब तक आपको यह परीक्षण पुखिका िोलिे को ि कहा जाए तब तक ि िोलें । 

टेस्ट फॉमम िोंबर 
अनिकतम अोंक  : 200 

कुल प्रश्    : 100 

नििामररत समय  : 60 नम.   

परीक्षार्थी का िाम:...................................................... 

नदिााँक:............... परीक्षा कोड ................................... 

अिुक्रमाोंक:.................................................................. 

 

 

Maximum Marks : 100 

Total Questions : 100 

Time Allowed :   90 Min. 
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Quantitative Aptitude 

1. 'A', 'B' और 'C' अकेले एक कार्य को क्रमश: 12 कदि, 15 

कदि और 20 कदि में कर सकते हैं। र्कद िे एक साथ कार्य 

करिा शुरू करते हैं और 3 कदि बाद 'B' कार्य छोड़ देता 

है तो शेष कार्य ककतिे कदिो ंमें पूरा होगा? 

(A) 3 कदि  (B) 5 कदि 

(C) 2 कदि  (D) 6 कदि 

 

2. कदए गए कचत्र में र्कद ∠APB = 36° है तो ∠AOB का माि 

है [कदर्ा गर्ा है 'O' िृत्त का कें द्र है] : 

 
(A) 136°  (B) 128° 

(C) 144°  (D) 72° 

 

3. (144 + 34 + 52) समीकरण का इकाई अंक ज्ञात कीकजए: 

(A) 1   (B) 0 

(C) 3   (D) 2 

 

4. एक ििु को 8% की हाकि पर बेचा गर्ा। र्कद इसे ₹460 

अकिक में बेचा गर्ा होता तो इसे 15% के लाभ पर बेचा 

जाता। र्कद उसी ििु को ₹2,440 में बेचा गर्ा था। तो 

अकजयत लाभ प्रकतशत क्या होगा? 

(A) 28%  (B) 18% 

(C) 22%   (D) 16% 

 

5. PA और PB िृत्त की स्पशय रेखाएँ हैं और 'O' िृत्त का कें द्र 

है कजसकी कत्रज्या 7 सेमी है। र्कद PO, 25 सेमी है, तो 

चतुभुयज APBO का पररमाप ज्ञात कीकजए। 

 
(A) 64 सेमी  (B) 54 सेमी 

(C) 62 सेमी  (D) 48 सेमी 

 

6. िीचे दी गई ताकलका प्रते्यक दुकाि द्वारा बेची गई दो प्रकार 

की बोतलो ंकी औसत संख्या और उस दुकाि द्वारा बेची 

गई कुल बोतलो ंमें से बेची गई कमल्टि बोतलो ंकी संख्या 

का प्रकतशत दशायती है। 

िोट: बोतलो ंकी कुल संख्या = कमल्टि बोतलो ंकी संख्या 

+ बोरोकसल बोतलो ंकी संख्या 

दुकािें बेची गई बोतलो ं

की औसत संख्या 

बेची गई कमल्टि बोतलो ं

की संख्या का प्रकतशत 

A 125 70% 

B 150 35% 

C 220 55% 

D 180 80% 

E 165 63% 

दुकाि 'C' द्वारा बेची गई कमल्टि बोतलो ंकी संख्या दुकाि 

'D' द्वारा बेची गई बोरोकसल बोतलो ंकी संख्या का ककतिा 

प्रकतशत है? (दशमलि के 2 थथािो ंतक)  

(A) 136.11%  (B) 436.11% 

(C) 336.11%  (D) 236.11% 

 

7. 5% प्रकत िषय चक्रिृस्तद्ध ब्याज (िाकषयक देर्) पर एक किकित 

राकश का कििेश करिे पर 2 िषय बाद अकजयत चक्रिृस्तद्ध 

ब्याज ₹1,230 है। राकश ज्ञात कीकजए। 

(A) ₹10,000  (B) ₹11,400 

(C) ₹12,200  (D) ₹12,000 

 

8. 
𝑥2+9𝑥+𝑦

4𝑥2−28𝑥2,का माि ज्ञात करें  र्कद 𝑥 +
𝑦

𝑥
= 7. 

(A) (- 3/y)   (B) (- 4/y)  

(C) (4/y)   (D) (- 3y/y) 

  

9. cos75o + cos15o का माि क्या है? 

(A) √
3

2
   (B) √

1

2
 

(C) √3   (D) √2 

 

10. 9, 18 और 27 का चौथा अिुपात 'k' और 18 के तीसरे 

अिुपात के समाि है। 'k' का माि ज्ञात कीकजए। 

(A) 12   (B) 6 

(C) 9   (D) 8 

 

11. आज से 5 िषय पूिय, 7 कमत्रो ंके एक समूह की औसत आरु् 

12 िषय थी। अब से 2 िषय बाद, र्कद 13 िषय की आरु् का 

एक व्यस्ति समूह छोड़ देता है और 20 िषय का एक अन्य 

व्यस्ति समूह में शाकमल हो जाता है, तो अब से 2 िषय बाद 

समूह की औसत आरु् क्या होगी? 

(A) 20 िषय  (B) 18 िषय 

(C) 15 िषय  (D) 22 िषय 

 

12. एक 450 मीटर लंबी टर ेि एक खंभे को पार करिे में 24 

सेकंड का समर् लेती है। 225 मीटर के पुल को पार करिे 

में ककतिा समर् लगेगा? 

(A) 36 सेकंड  (B) 42 सेकंड 

(C) 28 सेकंड  (D) 32 सेकंड 

 

13. कदर्ा गर्ा पाई-चाटय में कदए गए चार छात्रो ंद्वारा प्राप्त कुल 

अंको ंमें से 4 छात्रो ंद्वारा प्राप्त अंको ं के प्रकतशत कितरण 

को दशायर्ा गर्ा है। पाई-चाटय का ध्यािपूियक अध्यर्ि करें  

और किम्नकलस्तखत प्रश्न का उत्तर दें। 
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र्कद 'A' और 'C' द्वारा प्राप्त ककए गए औसत अंक 144 हैं, 

तो कदए गए चार छात्रो ं द्वारा प्राप्त अंको ं का र्ोग ज्ञात 

कीकजए। 

(A) 800   (B) 600 

(C) 400   (D) 500 

 

14. आिंद और अकमत िे क्रमशः  ₹1,120 और ₹1,200 कििेश 

करके एक व्यिसार् शुरू ककर्ा। 30 महीिे बाद अकमत िे 

अपिा पूरा कििेश िापस ले कलर्ा। व्यिसार् शुरू करिे के 

3 िषय बाद, कुल लाभ में से अकमत के लाभांश का अिुपात 

ज्ञात कीकजरे्। 

(A) (28/53)   (B) (25/53)  

(C) (1/2)   (D) (7/15)  

 

15. कदर्ा गर्ा ग्राफ किकभन्न अंक शे्रकणर्ो ंमें छात्रो ंकी संख्या 

दशायता है। ग्राफ का ध्यािपूियक अध्यर्ि करें  और िीचे 

कदए गए प्रश्न का उत्तर दें। 

ध्याि दें : ककसी भी छात्र िे 10 के गुणक में अंक प्राप्त िही ं

ककए। 

 
20-40 के बीच अंक प्राप्त करिे िाले छात्रो ंकी संख्या 40-

60 और 80-100 के बीच अंक प्राप्त करिे िाले छात्रो ंकी 

कुल संख्या का ककतिा प्रकतशत है? 

(A) 25%  (B) 40% 

(C) 20%   (D) 80% 

 

16. सरलीकृत करें : = √√√128 + 26 − 5 × 7. 

(A) 3   (B) 9 

(C) 12   (D) 6 

 

17. एक छात्र िे एक परीक्षा में 32% अंक प्राप्त ककए और 52 

अंको ं से अिुत्तीणय हो गर्ा। र्कद उत्तीणय प्रकतशत 45% है, 

तो परीक्षा के अकिकतम अंक ज्ञात कीकजरे्? 

(A) 400   (B) 450 

(C) 360   (D) 300 

 

18. एक आदमी द्वारा तर् की गई कुल दूरी में से, उसिे दूरी 

का 1/4th कहस्सा 30 ककमी/ घंटे की गकत से, दूरी का, 1/3 

rd कहस्सा 50 ककमी/घंटे की गकत से और शेष दूरी 75 

ककमी/घंटे की गकत से तर् की। पूरी र्ात्रा के दौराि व्यस्ति 

की औसत गकत ज्ञात कीकजरे्। 

(A) 42
9

37
 ककमी/घंटे (B) 36

29

37
 ककमी/घंटे 

(C) 48
24

37
 ककमी/घंटे (D) 47

13

37
 ककमी/घंटे 

19. र्कद p2 + 1 + 2p = 0 है तो इसका माि ज्ञात कीकजए: 
4𝑝3−10𝑝

2𝑝2−7𝑝3  

(A) (3/5)   (B) (2/3)  

(C) (6/5)   (D) (1/3)   

 

20. प्रते्यक 3सेमी कत्रज्या िाले िोस गोलो ंकी संख्या ज्ञात करें  

कजन्हें 8सेमी व्यास और 81सेमी ऊँचाई के एक सम िृत्तीर् 

िोस बेलि को कपघलाकर गोले बिािे के कलए पुिः  ढाले 

जािे पर बिार्ा जा सकता है। 

(A) 44   (B) 36 

(C) 30   (D) 42 

 

21.  र्कद x2 - x = 5 है तो 
𝑥4−4𝑥3

5𝑥2−3𝑥3 का माि क्या होगा? 

(A) 3   (B) 2 

(C) 5   (D) 1 

 

22. 
2.1×2.1×2.1−1.2×1.2×1.2

2.1×2.1+1.2×1.2+2.1×1.2
 का माि है: 

(A) 0.9   (B) 1.5 

(C) 2.1   (D) 1.2 

 

23. र्कद x + 1/x = 4 है तो x4 + 1/x4 का माि ज्ञात करें  

(A) 198   (B) 194 

(C) 200   (D) 189 

 

24. र्कद 
𝑥−2𝑥tan2 45∘

2+tan2 45∘ = sin2 45∘ + cot2 30∘ −

5cos2 30∘ है तो 'x' का माि है: 

(A) 0.32   (B) 0.65 

(C) 0.625  (D) 0.75 

 

25. एक घि के ककिारे की लंबाई 6.3 सेमी है। घि से किकाले 

जा सकिे िाले सबसे बड़े गोले का आर्ति क्या होगा? 

(मािा π = )  

(A) 156.328 सेमी3 (B) 130.977 सेमी3 

(C) 160.321 सेमी3 (D) 172.324 सेमी3 

Reasoning Aptitude               

26. उस किकल्प का चर्ि करें  जो कदए गए शब्ो ंके सही क्रम 

का प्रकतकिकित्व करता है जैसे िे अंगे्रजी शब्कोश में 

कदखाई देंगे। 

1- Contour  2- Concept 

3- Convent  4- Conserve 

5- Connect  6- Conquer 

(A) 2, 5, 6, 1, 4, 3 (B) 2, 5, 6, 4, 1, 3 

(C) 2, 5, 4, 6, 1, 3 (D) 2, 1, 5, 6, 4, 3 

 

27. कदए गए दो कचह्ो ंऔर संख्याओ ंको आपस में बदलिे पर 

किम्नकलस्तखत में से कौि-सा समीकरण सही िही ंहोगा? 

+ और ×, 4 और 12 

I. 44 ÷ 12 × 4 - 6 + 11 = 94 

II. 96 ÷ 4 + 15 - 12 × 2 = 50 

(A) दोिो ंI और II  (B) केिल II 

(C) ि तो I और ि ही II (D) केिल I 

 

20
80

210

245

110

0-20 20-40 40-60 60-80 80-100
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28. किम्नकलस्तखत प्रश्न में चार संख्या रु्ग्म कदए गए हैं। प्रते्यक 

जोड़ी में (-) के बार्ी ंओर की संख्या (-) के दार्ी ंओर की 

संख्या से कुछ तकय /किर्म/संबंि के साथ संबंकित है। 

समाि तकय /किर्म/संबंि के आिार पर तीि जोड़े समाि 

हैं। कदए गए किकल्पो ंमें से किषम को चुकिए। (ध्याि दें : 

संख्याओ ंको उिके घटक अंको ंमें किभाकजत ककए कबिा, 

पूणय संख्याओ ंपर संचालि ककर्ा जािा चाकहए। उदाहरण 

के कलए, 13 - 13 पर संचालि जैसे 13 को जोड़िा / घटािा 

/ गुणा करिा आकद ककर्ा जा सकता है। 13 को 1 में 

तोड़िा और 3 और कफर 1 और 3 पर गकणतीर् संकक्रर्ाएँ 

करिे की अिुमकत िही ंहै)  

(A) 54 - 36  (B) 72 - 48 

(C) 84 - 46  (D) 66 – 44 

 

29. उस किकल्प का चर्ि करें  कजसमें दी गई आकृकत सकन्नकहत 

है (घूणयि की अिुमकत िही ंहै) । 

 

(A)  (B)  

(C)  (D)  

 

30. उस किकल्प का चर्ि करें  जो पांचिें अक्षर-समूह से उसी 

प्रकार संबंकित है जैसे कद्वतीर्-अक्षर समूह पहले अक्षर-

समूह से संबंकित है और चौथा अक्षर-समूह तीसरे अक्षर-

समूह से संबंकित है। 

CALM: XZJI :: WENT: BTQK :: RUSK: ? 

(A) ROPH  (B) ORRH 

(C) ORPH  (D) ROHP 

 

31. िीचे कदए गए प्रश्नो ं में कुछ कथि कदए गए हैं और उि 

कथिो ं के आिार पर कुछ किष्कषय कदए गए हैं। कदए गए 

कथिो ंको सत्य माििा, भले ही िे सामान्यतः  ज्ञात तथ्ो ंसे 

कभन्न प्रतीत होते हो।ं सभी किष्कषों को पढें  और कफर 

किणयर् लें कक कदए गए किष्कषों में से कौि सा किष्कषय कदए 

गए कथिो ंका ताककय क रूप से पालि करता है। 

कर्थि: I. सभी आटटयस पेंटटस हैं 

II. कुछ पेंटटस कलर है 

निष्कर्म: I. कुछ कलर आटटयस है 

II. कोई कलर आटटयस िही ंहै 

III. सभी पेंटटस कलर हैं 

(A) केिल किष्कषय I अिुसरण करता है  

(B) केिल किष्कषय II और III अिुसरण करते हैं 

(C) कोई किष्कषय अिुसरण िही ंकरता   

(D) र्ा तो किष्कषय I र्ा II अिुसरण करता है 

32. चार िणय-समूह कदए गए हैं कजिमें से तीि ककसी प्रकार से 

एक जैसे हैं और एक कभन्न है। िह चुिें जो कभन्न हो। 

(A) KHM  (B) DAG 

(C) SPV   (D) QNT 

 

33. कदए गए किकल्प में से उस संख्या का चर्ि करें  जो 

किम्नकलस्तखत शंृ्रखला में प्रश्न कचह् (?) को प्रकतथथाकपत कर 

सकती है: 

17, 26, 51, ?, 221, 390 

(A) 100   (B) 115 

(C) 132   (D) 95 

 

34. एक शंृ्रखला दी गई है कजसमें एक पद किलुप्त है। कदए गए 

किकल्पो ंमें से सही किकल्प का चर्ि करें  जो शंृ्रखला को 

पूरा करेगा। 

HUGE, MBAW, RIUO, WPOG, ?, GDCQ 

(A) BWIY  (B) CXJY 

(C) BXIY  (D) CWIY 

 

35. कौि सी उत्तर आकृकत प्रश्न आकृकत के पैटिय को पूरा 

करेगी? 

 

(A)  (B)  

(C)  (D)  

 

36. एक किकित कूट भाषा में, 'ENGLAND' को '196' और 

'WORRIED' को '75' के रूप में कोकडत ककर्ा जाता है। 

समाि कूट भाषा में 'HIEST' शब् का कोड क्या है? 

(A) 158   (B) 145 

(C) 171   (D) 169 

 

37. सात बॉक्स B1, B2, B3, B4, B5, B6, और B7 एक के 

ऊपर एक रखे गए हैं हालांकक इस किशेष क्रम में िही।ं 

सबसे िीचे िाले बॉक्स की संख्या 1 है उसके ऊपर िाले 

बॉक्स की संख्या 2 है और इसी तरह आगे भी। B5, B1 के 

तीि बॉक्स ऊपर हैं जैसे कक दोिो ंअभाज्य संख्या िाले 

बॉक्स हैं। B5 और B6 के बीच एक बॉक्स है। B3, B2 से दो 

बॉक्स ऊपर है। B2 एक किषम संख्या िाला बॉक्स है। B7, 

B4 से ऊपर है। B4 के िीचे ककतिे बॉक्स हैं? 

(A) तीि   (B) चार 

(C) पांच   (D) छह 

 

38. उस सेट का चर्ि करें  कजसमें संख्याएँ उसी तरह से 

संबंकित हैं जैसे किम्नकलस्तखत सेट की संख्याएँ हैं। 

(ध्याि दें : संख्याओ ंको उिके घटक अंको ं में किभाकजत 

ककए कबिा, पूणय संख्याओ ंपर संचालि ककर्ा जािा चाकहए। 

उदाहरण के कलए, 13 - 13 पर संचालि जैसे 13 को 
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जोड़िा / घटािा / गुणा करिा आकद ककर्ा जा सकता है। 

13 को 1 में तोड़िा और 3 और कफर 1 और 3 पर 

गकणतीर् संकक्रर्ाएँ करिे की अिुमकत िही ंहै)  

(65, 39, 13)  

(32, 14, 9)  

(A) (41, 19, 9)   (B) (40, 18, 11)  

(C) (53, 21, 14)   (D) (26, 8, 11)  

 

39. एक किकित कूट भाषा में, 'STORED' को 'WYSWII' और 

'LAMENT' को 'PFQJRY' कलखा जाता है। उस भाषा में 

'RECALL' कैसे कलखा जाएगा ? 

(A) VIGFPQ  (B) VJGFPQ 

(C) VJGFPP  (D) WIHEQP 

 

40. (::) के बाई ंओर कदए गए शब् ककसी तकय /किर्म/संबंि 

द्वारा एक दूसरे से संबंकित हैं। उसी तकय /किर्म/संबंि के 

आिार पर कदए गए किकल्पो ंमें से (::) के दाईं ओर लुप्त 

शब्/शब् रु्ग्म का चर्ि करें। 

िोलािीरा: गुजरात :: ? 

(A) हम्पी: किायटक  

(B) हाथी गुफाएँ: मध्य प्रदेश 

(C) एलोरा गुफाएँ: तकमलिाडु  

(D) सांची िूप: महाराष्ट्र  

 

41. िीचे कदए गए किदेश के आिार पर किम्नकलस्तखत प्रश्न का 

उत्तर दीकजए। 

र्कद 'A#B' का अथय है 'A, B का कपता है' 

'A@B' का अथय है 'A, B का भाई है' 

'A$B' का अथय है 'A, B का बेटा है' 

'A%B' का अथय है 'A, B की बेटी है' 

'A&B' का अथय है 'A, B की पत्नी है' 

र्कद C % D & E $ F # G & H है तो G, D से संबंकित है? 

(A) देिर/साला/जीजा    

(B) ििद/भाभी/साली 

(C) बहि   

(D) कििायररत िही ंककर्ा जा सकता 

 

42. एक ही पासे की तीि अलग-अलग स्तथथकतर्ाँ कदखाई गई हैं। 

उस अक्षर का चर्ि करें  जो प्रतीक '!' िाले फलक के 

किपरीत फलक पर होगा? 

 
(A) @   (B) & 

(C) $   (D) # 

 

43. चार में से तीि शब् एक किकित तरीके से समाि हैं और 

एक कभन्न है। कभन्न का चर्ि करें। 

(A) FINP  (B) ORTY 

(C) CHKO  (D) ELQT 

 

44. दी गई आकृकत में कत्रभुजो ंकी संख्या ज्ञात कीकजए: 

 

(A) 18   (B) 16 

(C) 14   (D) 17  

 

45. किम्नकलस्तखत में से कौि सा शब् कदए गए शब् के अक्षरो ं

का केिल एक बार प्रर्ोग करके िही ंबिार्ा जा सकता है? 

INVALIDATION 

(A) NATIONAL  (B) AVIATION 

(C) INITIALS  (D) VALIANT 

 

46. कदए गए संर्ोजि की सही दपयण प्रकतकबम्ब का चर्ि करें  

जब दपयण को रेखा MN पर कदखार्ा गर्ा है। 

 

(A)  (B)  

(C)  (D)  

 

47. संख्याओ ंके उस संर्ोजि का चर्ि करें , जो दी गई शंृ्रखला 

के ररि थथाि में क्रम से रखिे पर शंृ्रखला को पूरा करेगा। 

7 _ _ 4 5 _ 2 7 6 8 _ 5 3 _ _ 6 _ _ 5 3 2 7 _ 8 4 _ _ 2 

(A) 8, 6, 4, 3, 2, 7, 4, 4, 6, 5, 3   

(B) 6, 8, 3, 4, 2, 7, 8, 4, 6, 5, 3 

(C) 6, 8, 4, 2, 2, 4, 7, 4, 6, 5, 3   

(D) 8, 6, 3, 4, 7, 2, 4, 4, 5, 6, 3 

 

48. एक किकित कूट भाषा में, 'EARN' को '6' के रूप में 

कोकडत ककर्ा जाता है और 'SOLD' को '34' के रूप में 

कोकडत ककर्ा जाता है। उस भाषा में 'TRAP' को ककस 

प्रकार कोकडत ककर्ा जाएगा? 

(A) 21   (B) 38 

(C) 17   (D) 36 

 

49. िेि आरेख का चर्ि करें  जो कदए गए िगों के बीच संबंि 

को सिोत्तम रूप से दशायता है। 

िगय: अभाज्य संख्याएँ, पूणय संख्याएँ, अपररमेर् संख्याएँ 

(A)   (B)  

(C)   (D)  

 

50. र्कद 1 फरिरी 1444 को गुरुिार था, तो 16 अकू्टबर 

1444 को कौि सा कदि था? 

(A) शुक्रिार  (B) रकििार 

(C) गुरूिार  (D) बुििार 

https://www.facebook.com/tesmuseduserve
https://tesmus.com/


SSC_CHSL_PRE_2024                                                                 TEST ID - SHP - 904243601 
 

Fb:- https://www.facebook.com/tesmuseduserve            6 | Page                        Web :- https://tesmus.com 

General Studies            

51. किम्नकलस्तखत में से ककस राजिंश की थथापिा किजर्ालर् िे 

की थी? 

(A) िागामा राजिंश (B) चोल राजिंश 

(C) सोमा राजिंश  (D) संगम राजिंश 

 

52. लोक िृत्य "ढालो" किम्नकलस्तखत में से ककस राज्य से संबंकित 

है? 

(A) केरल  (B) तकमलिाडु 

(C) मध्य प्रदेश  (D) गोिा 

 

53. कें द्रीर् बजट 2023-24 में रेलिे के कलए ककतिे पंूजी 

पररव्यर् को मंजूरी दी गई है? 

(A) ₹2.23 लाख करोड़ (B) ₹2.35 लाख करोड़ 

(C) ₹2.40 लाख करोड़ (D) ₹2.56 लाख करोड़ 

 

54. मिुमेह के इलाज में उपर्ोग ककए जािे िाले हामोि 

इंसुकलि की खोज फे्रडररक बैंकटंग िे की थी। िह एक 

__________ कचककत्सा िैज्ञाकिक, कचककत्सक, कचत्रकार और 

िोबेल पुरस्कार किजेता थे। 

(A) कैिेकडर्ि  (B) अमेररकि 

(C) आस्ट्र ेकलर्ि  (D) स्वीकडश 

 

55. बुद्ध चररत की रचिा ककसिे की थी? 

(A) अश्वघोष  (B) ककिष्क I 

(C) चरक  (D) ककिष्क II 

 

56. ककस सकमकत की ररपोटय में कसफाररश की गई कक 

अिुसूकचत जाकत का दजाय पूरी तरह से िमय से अलग कर 

कदर्ा जाए और अिुसूकचत जिजाकत (STs) की तरह इसे 

िमय-तटथथ बिा कदर्ा जाए? 

(A) रंगिाथ कमश्र सकमकत (B) जे.आर.िमाय सकमकत 

(C) महाजि सकमकत (D) कशिरमि सकमकत 

 

57. "िारु्दूत" भारत में एक के्षत्रीर् एर्रलाइि थी कजसे 20 

जििरी 1981 को इंकडर्ि एर्रलाइंस और _______ के 

बीच एक संरु्ि उद्यम के रूप में थथाकपत ककर्ा गर्ा था। 

(A) स्पाइसजेट  (B) एर्र इंकडर्ा 

(C) इंकडगो  (D) कििारा 

 

58. 'कहमा दास' ककस खेल से संबंकित हैं? 

(A) एथलेकटक्स  (B) कुश्ती 

(C) टेकिस  (D) हॉकी 

 

59. भारत के संकििाि का अिुचे्छद 148 __________ के एक 

स्वतंत्र कार्ायलर् के कलए प्रदाि करता है। 

(A) राज्य के महाकिििा   

(B) भारत के महान्यार्िादी 

(C) भारत के राष्ट्र पकत   

(D) भारत के किरं्त्रक एिं महालेखा परीक्षक 

 

60. 'डेकिस कप' का संबंि _________ से है। 

(A) टेबल टेकिस  (B) पोलो 

(C) हॉकी  (D) लॉि टेकिस 

61. मध्यकाल के सांसृ्ककतक इकतहास के संदभय में, मुस्तिम 

शासको ं के दरबार में शाही पोशाक और शॉल के कलए 

ककस सामग्री का उपर्ोग ककर्ा जाता था? 

(A) कसुकत  (B) कहमरू 

(C) टोडा   (D) रबारी 

 

62. गोडं कचत्रकला किम्नकलस्तखत में से ककस राज्य की पारंपररक 

कला है? 

(A) उत्तर प्रदेश  (B) राजथथाि 

(C) मध्य प्रदेश  (D) तेलंगािा 

 

63. भारत के मुख्य न्यार्ािीश (CJI) किम्नकलस्तखत में से ककस 

प्राकिकरण को अपिा इिीफा देते हैं? 

(A) भारत के राष्ट्र पकत   

(B) उच्चतम न्यार्ालर् के िररष्ठतम न्यार्ािीश 

(C) भारत के प्रिाि मंत्री   

(D) लोकसभा अध्यक्ष 

 

64. __________ के दौराि, डेटा ग्राहक की मशीि से सियर में 

थथािांतररत होता है। 

(A) ब्राउक ंग  (B) अपलोकडंग  

(C) फॉरिाकडिंग  (D) डाउिलोकडंग 

 

65. 1960 में लॉन्च ककए गए 'IADP' का पूरा िाम क्या है? 

(A) गहि कृकष कजला कार्यक्रम 

(B) गहि कृकष सूखा कार्यक्रम 

(C) संथथागत कृकष कजला कार्यक्रम 

(D) संथथागत कृकष सूखा कार्यक्रम 

 

66. किम्नकलस्तखत में से कौि सा कथि "प्रथम पंचिषीर् र्ोजिा" 

से संबंकित सही िही ंहै? 

(A) जिाहरलाल िेहरू िे प्रथम पंचिषीर् र्ोजिा प्रिुत 

की।  

(B) पहली पंचिषीर् र्ोजिा 1951 में शुरू की गई थी। 

(C) प्रथम पंचिषीर् र्ोजिा का आदशय िाक्य 'कृकष का 

किकास' था।   

(D) प्रथम पंचिषीर् र्ोजिा महालिोकबस मॉडल पर 

आिाररत थी। 

 

67. किम्नकलस्तखत में से कौि अकदश राकश का उदाहरण िही ंहै? 

(I) तापमाि 

(II) बल 

(III) गकत 

उपरोि कथिो ंमें से कौि सा/से सही है/हैं? 

(A) केिल I  (B) केिल II 

(C) I और II दोिो ं  (D) सभी I, II, और III 

 

68. 'कसतार' शास्त्रीर् संगीत में प्रर्ोग ककर्ा जािे िाला एक तार 

िाला िाद्यरं्त्र है। कसतार का आकिष्कार किम्नकलस्तखत में से 

ककस भारतीर् संगीतकार द्वारा ककर्ा गर्ा था? 

(A) अमजद अली खाि (B) खुसरो खाि 

(C) ककशि महाराज (D) पंकडत रकिशंकर प्रसाद 

 

69. पृथ्वी की सबसे बाहरी परत का िाम बताइरे्। 

(A) कोर   (B) मेंटल 

(C) पपड़ी (क्रस्ट्)   (D) कोरोिा 
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70. अस्तखल भारतीर् मुस्तिम लीग (AIML) एक राजिीकतक 

दल ककस िषय थथाकपत ककर्ा गर्ा था? 

(A) 1860  (B) 1897 

(C) 1906  (D) 1923 

 

71. किम्नकलस्तखत में से कौि सा "बैरोमीटर" का सबसे अच्छा 

िणयि है? 

(A) िारु्मंडलीर् दबाि को मापिे के कलए उपर्ोग ककर्ा 

जािे िाला एक िैज्ञाकिक उपकरण   

(B) श्रिण तीक्ष्णता को मापिे र्ा मूल्ांकि करिे के कलए 

उपर्ोग ककर्ा जािे िाला एक िैज्ञाकिक उपकरण 

(C) ध्वकि की र्ांकत्रक ररकॉकडिंग और पुिरुत्पादि के कलए 

एक िैज्ञाकिक उपकरण   

(D) तरल पदाथय र्ा गैसो ं का दबाि मापिे का एक 

िैज्ञाकिक उपकरण 

 

72. एक्सरसाइज ओररर्ि एक बहुराष्ट्र ीर् अभ्यास है जो 

किम्नकलस्तखत में से ककस देश द्वारा आर्ोकजत ककर्ा जाता है? 

(A) रूस   (B) संरु्ि अरब अमीरात 

(C) फ्रांस   (D) ऑस्ट्र ेकलर्ा 

 

73. _________ उस बल का माप है जो ककसी ििु को एक 

अक्ष के चारो ंओर घुमा सकता है। 

(A) बलाघूणय  (B) गुरुत्वाकषयण 

(C) त्वरण  (D) किथथापि 

 

74. िारु्मंडल परत को किम्नतम से उच्चतम तक सही क्रम में 

व्यिस्तथथत करें। 

(A) समतापमंडल, मध्यमंडल, क्षोभमंडल, थमोस्फीर्र, 

बकहमिंडल   

(B) थमोस्फीर्र, क्षोभमंडल, समतापमंडल, बाह्यमंडल, 

मध्यमंडल 

(C) क्षोभमंडल, समतापमंडल, मध्यमंडल, थमोस्फीर्र, 

बकहमिंडल   

(D) समतापमंडल, क्षोभमंडल, थमोस्फीर्र, बाह्यमंडल, 

मध्यमंडल 

 

75. मंगोल साम्राज्य का संथथापक कौि था? 

(A) तैमुर   (B) बाबर 

(C) चंगे  खां  (D) अलीशेर ििोई 

English Language 

76. Select the most appropriate antonym of the given 
word. 
WITHER 
(A) wed   (B) satiate 
(C) resist  (D) bloom 
 

77. In the following question, one part of the sentence 
may have an error. Select the option containing the 
error as your answer. 
Preserving what we value in (A) / the face of climate 
change is (B) / complicated and often overwhelm by 
(C) / the sheer volume of what we stand to lose. (D)  
(A) A   (B) B 
(C) C   (D) D 
 

78. In the following question, out of the four alternatives, 
choose the one which best expresses the meaning of 
the given word. 
PREROGATIVE 

(A) immaculate  (B) destitute 
(C) privilege  (D) dotage 
 

79. Select the most appropriate meaning of the given 
idiom. 
Drive a hard bargain 
(A) negotiate effectively   
(B) make a difficult decision 
(C) accept one's mistake   
(D) be unwilling to change one's mind 
 

80. Out of the following choose the word which expresses 
the word opposite in meaning to the given word. 
Cognisance 
(A) heed   (B) initiation 
(C) ignorance  (D) notion 
 

81. Select the most appropriate option to fill in the blank 
and make a grammatically correct sentence. 
The new manager is determined to _________ the 
company's productivity and efficiency through 
innovative strategies. 
(A) subdue  (B) augment 
(C) hinder  (D) impede 
 

82. Select the most appropriate word to fill in the blank. 
The new restaurant in town has a/an _____ menu 
that caters to a variety of dietary needs. 
(A) pathetic  (B) limited 
(C) inclusive  (D) obscure 
 

83. In the following question, a sentence has been given 
in Active/ Passive Voice. Out of the four alternatives 
suggested, select the one which best expresses the 
same sentence in Passive/Active Voice. 
The audience applauded the performer at the 
ceremony. 
(A) The performer had been applauded at the 
ceremony by the audience.   
(B) The performer was applauded at the ceremony by 
the audience. 
(C) The performer is applauded at the ceremony by 
the audience.   
(D) The performer has been applauded at the 
ceremony by the audience. 
 

84. Select the word which means the same as the group 
of words given. 
A recurrent urge to steal 
(A) dipsomania  (B) kleptomania 
(C) telekinesis  (D) aphasia 
 

Directions [85-89]: In the following passage some words have 
been deleted. Fill in the blank with the help of the 
alternatives given. Select the most appropriate option 
for each blank. 

 
Hunter-gatherers are the original knowledge workers, 
cultivating hard skills with decades of practice. Until 
the age of 20, hunter-gatherer kids don't pull their own 
weight, burning more calories than they themselves 
produce. But, once their skills are sharpened, they 
are extraordinarily productive, ___(A) ___ in a surplus 
that would be widely shared. For big game, most 
hunter-gatherers maintain strict social 
dictating ___(B) ___that everyone has a collective 
right to these resources. When our ancestors started 
to hunt and gather, they unwittingly stumbled upon 
the most ___(C) ___ and effective insurance policy 
ever known. 
The origins of hunting and gathering are___(D) 
___, but things began falling into place as far back as 
2 million years ago. That's when the game changed: 

https://www.facebook.com/tesmuseduserve
https://tesmus.com/


SSC_CHSL_PRE_2024                                                                 TEST ID - SHP - 904243601 
 

Fb:- https://www.facebook.com/tesmuseduserve            8 | Page                        Web :- https://tesmus.com 

with the help of increasingly sophisticated tools, we 
ruthlessly ___(E) ___new foods from savannas and 
woodlands. 
 

85.  Find the correct word in each case. 
(A) devouring  (B) diverting 
(C) hovering  (D) hauling 
 

86.  Find the correct word in each case. 
(A) assumptions  (B) norms 
(C) novice  (D) errands 
 

87.  Find the correct word in each case. 
(A) ensuing  (B) aloof 
(C) enduring  (D) acerbic 
 

88.  Find the correct word in each case. 
(A) meager  (B) morbid 
(C) murky  (D) morose 
 

89.  Find the correct word in each case. 
(A) amended  (B) extended 
(C) adjoined  (D) extracted 
 

90. In the following question, a sentence is given with a 
phrase or idiom in brackets. Select the option given 
below that can replace the bracketed phrase. 
The doctor advised me to (cut off) on salty and fried 
foods to reduce my cholesterol levels. 
(A) cut out for  (B) cut down 
(C) cut up  (D) No improvement 
 

91. Select the most appropriate option to substitute the 
underlined segment in the given sentence. If there is 
no need to substitute it, select No improvement. 
After working for hours, her energy began to give 
upto and she could barely keep her eyes open. 
(A) give up  (B) give off 
(C) give out  (D) No improvement 
 

92. Given below are four jumbled sentences. Out of the 
given option pick the one that gives their correct 
order. 
P. It would take possession of me completely, and my 
legs would become paralysed. 
Q. This handicap stayed with me as the years rolled 
by. 
R. And whenever I did, whether I was wading the 
Tieton or Bumping River or bathing in Warm Lake of 
the Goat Rocks, the terror would come back. 
S. A few years later, when I came to know the waters 
of the Cascades, I wanted to get into them. 
(A) QPSR  (B) SRPQ 
(C) PQRS  (D) RPQS 
 

93. In the following question, four different spellings of a 
word are given, out of which only one is correct. Find 
the correct spelling of the given word. 
(A) asidous  (B) assidous 
(C) asiduous  (D) assiduous 
 

94. In the following question, a sentence has been given 
in Direct/ Indirect speech. Out of the four alternatives 
suggested, select the one which best expresses the 
same sentence in Direct/ Indirect speech. 
The teachers told me that the school had been closed 
because of excessive heat. 
(A) The teachers said to me, "The school is being 
closed because of excessive heat." 
(B) The teachers said, "The school was closed 
because of excessive heat." 
(C) The teachers said to me, "The school has been 
closed because of excessive heat." 

(D) The teachers said, "The school has been closed 
because of excessive heat." 

 
95. Select the correct alternative out of the four which 

best expresses the meaning of the given word and 
indicate it by selecting the appropriate option. 
APEX 
(A) pinnacle  (B) depth 
(C) counsel  (D) warmth 
 

96. In the question given below, rearrange the parts of 
the sentence in the correct order, and choose the 
correct option. 
His sister 
P. and enjoys reading books 
Q. who is a voracious reader 
R. is a librarian 
(A) PQR   (B) QPR 
(C) QRP   (D) PRQ 
 

97. Out of the following choose the word which expresses 
the right meaning of the given word. 
Conspire 
(A) Cooperate  (B) Consistent 
(C) Collaborate  (D) Plot 

 
98. Select the correct alternative out of the four which 

best expresses the meaning of the given word and 
indicate it by selecting the appropriate option. 
NOXIOUS 
(A) edible  (B) tame 
(C) bland  (D) toxic 

 
99. Select the correct spelling of the word. 

(A) commitment  (B) comitment 
(C) commitment  (D) committmant 

 
100. In the following question, one part of the sentence 

may have errors. Find out which part of the sentence 
has an error and select the appropriate option. If the 
sentence is free from error, select option D, i.e. 'No 
error'. 
Part of why misinformation (A) / spreads so readily is 
that (B) / users are reward for popular posts. (C) / No 
error (D)   
(A) A   (B) B 
(C) C   (D) D 
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Quantitative Aptitude 

1. Answer: (A) 

माना कि िुल िार्य 60 रू्कनट है। {12, 15 और 20 िा 

एलसीएम} 

तो, A िी दक्षता = 60 ÷ 12 = 5 रू्कनट/कदन 

B िी दक्षता = 60 ÷ 15 = 4 रू्कनट/कदन 

C िी दक्षता = 60 ÷ 20 = 3 रू्कनट/कदन 

उन सभी द्वारा 3 कदनोों में एि साथ किर्ा गर्ा िार्य 

= 3 × (5 + 4 + 3) = 3 × 12 = 36 रू्कनट 

शेष िार्य = 60 – 36 = 24 रू्कनट 

आवश्यि समर् = 24/(5 + 3) = 3 कदन 

2. Answer: (C) 

चूूँकि 'O' वृत्त िा िें द्र है 

तो, ∠OAP = ∠OBP = 90° [एि वृत्त िी किज्या सोंपिय  

क ोंदु पर वृत्त िी स्पशयरेखा िे साथ 90° िा िोण  नाती 

है] 

तो, ∠AOB = 360° - (90° × 2 + 36°) चूोंकि AOBP एि 

चतुभुयज है इसकलए इसिे िोणोों िा र्ोग 360° िे  रा र 

होगा] 

र्ा, ∠AOB = 360° - (180° + 36°) 

र्ा, ∠AOB = 360° - 216°  

र्ा, ∠AOB = 144°  

3. Answer: (D) 

हम वह जानते हैं, 

4n िा इिाई अोंि = 4 (ज  'n' कवषम है) और 6 (ज  'n' 

सम है) 

3 िा इिाई अोंि: 

31 = 3 

3² = 9 

3³ = 7 

3⁴ = 1 

14⁴ + 3⁴ + 5² िा इिाई अोंि = (6 + 1 + 5) िा इिाई 

अोंि = 12 िा इिाई अोंि = 2 

4. Answer: (C)  

माना वसु्त िा लागत मूल्य = ₹'100x' 

किर, ज  वसु्त 8% िी हाकन पर  ेची जाती है तो कवक्रर् 

मूल्य = 100𝑥 × 0.92 =  ₹92𝑋 

प्रश्नानुसार, 

92𝑥 + 460 = 10𝑥 × 1.59 

र्ा, 460 = 115x - 92x = 23x 

अतः , x = 460 ÷ 23 = 20 

तो, वसु्त िा लागत मूल्य  

= 100x = 100 × 20 =  ₹2,000  

इसकलए, अकजयत लाभ िा प्रकतशत  

= {(2440 − 2000) /2000} × 100 = 22% 

5. Answer: (C)  

चूूँकि, OA किज्या है और PA स्पशयरेखा है 

इसकलए, PA OA िे लों वत होगा (स्पशय रेखा और किज्या 

सोंपिय  क ोंदु पर 90° पर कमलते हैं) 

इसकलए, किभुज PAO में, पाइथागोरस प्रमेर् िा उपर्ोग 

िरते हुए 

PA² + OA² = PO² 

र्ा, PA² = PO² - OA² = 25² - 7² = 576 

र्ा, PA = 24 (चूूँकि, लों ाई ऋणात्मि नही ों हो सिती 

इसकलए हम िेवल धनात्मि मूल लेंगे) 

चूूँकि, PA और PB एि ही क ोंदु से स्पशय रेखाएूँ  हैं, इसकलए, 

PA = PB = 24 सेमी 

आवश्यि पररकध = 24 + 24 + 7 + 7 = 62 सेमी 

6. Answer: (C)  

दुिान 'C' द्वारा  ेची गई  ोतलोों िी िुल सोंख्या  

= 220 × 2 = 440 

दुिान 'C' द्वारा  ेची गई कमल्टन  ोतलोों िी सोंख्या  

= 440 × 0.55 = 242 

दुिान 'D' द्वारा  ेची गई  ोतलोों िी िुल सोंख्या  

= 180 × 2 = 360 

दुिान 'D' द्वारा  ेची गई  ोरोकसल  ोतलोों िी सोंख्या  

= 360 × 0.20 = 72 

आवश्यि प्रकतशत = 
242

72
× 100 = 336.11% 

7. Answer: (D) 

माना कनवेश िी गई राकश ₹'x' है। 

चक्रवृद्धि ब्याज = x × {(1 + R/100)n - 1} (जहाूँ 'R' = 

ब्याज िी दर और 'n' = समर् अवकध) 

प्रश्नानुसार, 

1230 = x × {(1 +
5

100)
)

2

2

− 1}

र्ा, 1230 = x ×
21×21

(20×20
− 1)

र्ा, 1230 = x ×
41

400

अतः , 'x' = 12000

  

तो, आवश्यि राकश = ₹12,000 

8. Answer: (B) 

कदर्ा है: 𝑥 +
𝑦

𝑥
= 7 

र्ा, 𝑥2 + 𝑦 = 7𝑥 ........ (I) 

और, 
𝑥2+9𝑥+𝑦

4𝑥3−28𝑥2 =
7𝑥+9𝑥

4𝑥(𝑥2−7𝑥)
 

र्ा, 
16𝑥

4𝑥(𝑥2−7𝑥)
=

4

𝑥2−7𝑥
 

समीिरण (I) िा उपर्ोग िरते हुए, 
4

𝑥2−7𝑥
=

−4

𝑦
  

9. Answer: (A)  

cos 𝐶 + cos 𝐷 = 2cos 
𝐶+𝐷

2
cos 

𝐶−𝐷

2

cos 75∘ + cos 15∘ = 2cos 
75+15

2
cos 

75−15

2

= 2cos 
90

2
cos 

60

2

= 2cos 45∘cos 30∘

= 2 ×
1

√2
×

√3

2

= √
3

2

  

10. Answer: (B) 

माना 9, 18 और 27 िा चौथा अनुपात 'x' है। 

तो, (9/18) = (27/x) 

र्ा, x = 54 

तो, 'k' और 18 िा तीसरा अनुपात 54 है। 

इसकलए, (k/18) = (18/54) 

अतः , k = (18/3) = 6 

र्ा, 'k' = 6 

11. Answer: (A)  

अ  से 5 वषय पहले, सभी 7 कमिोों िी आरु् िा र्ोग  

= 7 × 12 = 84 वषय 

सभी 7 कमिोों िी वतयमान आरु् िा र्ोग = 84 + 5 × 7  

= 119 वषय 
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अ  से 2 वषय  ाद, 7 कमिोों िे मूल समूह िी आरु् िा र्ोग 

= 119 + 2 × 7 = 133 वषय 

नए समूह िे सभी 7 कमिोों िी आरु् िा र्ोग  

= 133 - 13 + 20 = 140 वषय 

अतः , नरे् समूह िी औसत आरु् = 140 ÷ 7 = 20 वषय 

12. Answer: (A) 

टर ेन िी गकत = 450 ÷ 24 = 18.75 मीटर/सेिें ड 

तो, पुल पार िरने में लगा समर् = {(450 + 225) ÷ 

18.75} = 36 सेिों ड 

13. Answer: (B) 

माना कि कदए गए चार कवद्याकथयर्ोों द्वारा प्राप्त अोंिोों िा र्ोग 

100x है। 

तो, 'A' द्वारा प्राप्त अोंि = 100x × 0.18 = '18x' 

'C' द्वारा प्राप्त अोंि = 100x × 0.30 = '30x' 

'A' और 'C' द्वारा प्राप्त औसत अोंि = (18x + 30x) ÷ 2 

= 48x ÷ 2 = '24x' 

तो, 24x = 144 

तो, 'x' = 6 

तो, आवश्यि अोंि = 100x = 100 × 6 = 600 

14. Answer: (B)  

आनोंद और अकमत िे लाभ शेर्रोों िा अनुपात  

= (1120 × 36) :(1200 × 30) 

= 40320:36000 

= 28:25 

तो, िुल लाभ में से अकमत िे लाभ कहसे्स िा अनुपात  

= {25/(28 + 25) } = (25/53)  

15. Answer: (A) 

40-60 और 80-100 िे  ीच अोंि प्राप्त िरने वाले छािोों 

िी सोंख्या = 210 + 110 = 320 

आवश्यि प्रकतशत = 
80

320
× 100 = 25% 

16. Answer: (A)  

आवश्यि मान  

= √√128×
1

2 + 26 − 35

= √124×
1

2 ∣

= 122×(1/2) − 9
= 12 − 9
= 3

  

17. Answer: (A) 

माना अकधितम अोंि '100x' हैं। 

प्रश्नानुसार: 

100x × 0.32 + 52 = 100x × 0.45 

र्ा, 32x + 52 = 45x 

र्ा, 52 = 13x 

अतः , x = 4 

तो, अकधितम अोंि = 100x = 100 × 4 = 400 

18. Answer: (C)  

माना कि तर् िी गई िुल दूरी '12d' किमी है। 

30 किमी/घोंटा िी गकत से तर् िी गई दूरी  

= 12 d × (1/4) = '3 d' किमी 

50 किमी/घोंटा िी गकत से तर् िी गई दूरी  

= 12 d × (1/3) = '4 d' किमी 

तो, 75 किमी/घोंटा िी गकत से तर् िी गई दूरी  

= 12 कदन - 4 कदन - 3 कदन = '5 कदन' किमी 

तो, िुल समर् कलर्ा गर्ा  

=  
3𝑑

30
+

4𝑑

50
+

5𝑑

75
=

15𝑑+12𝑑+10𝑑

150
=

37𝑑

150
 

तो, आवश्यि औसत = िुल दूरी / िुल कलर्ा गर्ा समर् 

=
12𝑑
37𝑑

150

=
(12×150)

37
=

1800

37
= 48

24

37
किमी/घोंटा  

19. Answer: (B)  

कदर्ा है, p2 + 1 + 2p = 0  

र्ा, p2 + p + p + 1 = 0 

र्ा, 𝑝(𝑝 + 1) + 1(𝑝 + 1) = 0 

र्ा, (𝑝 + 1) (𝑝 + 1)  = 0 

अतः , p = -1 

अतः , 
4𝑝3−10𝑝

2𝑝2−7𝑝3 =
4×(−1) 3−10×(−1) 

2×(−1) 2−7×(−1) 3
 

=
−4+10

2+7
=

6

9
=

2

3

  

20. Answer: (B) 

माना कि  ने गोले िी सोंख्या 'n' है। 

 ेलन िी किज्या = (8/2) = 4 सेमी 

प्रश्नानुसार, 

'n' गोले िा आर्तन = ठोस  ेलन िा आर्तन 

𝑛 ×
4

3
𝜋 × 3 × 3 × 3 = 𝜋 × 4 × 4 × 81  

र्ा, n = (4 × 81) ÷ 9 

अतः , 'n' = 36 

अतः ,  ने ठोस गोले िी सोंख्या = 36 

21. Answer: (D) 

आवश्यि मान  

=
𝑥4−4𝑥3

5𝑥2−3𝑥3 =
𝑥2(𝑥2−4𝑥)

𝑥2(5−3𝑥)
  

=
(𝑥2−𝑥−3𝑥)

(5−3𝑥)
=

(5−3𝑥)

(5−3𝑥)
= 1  

22. Answer: (A) 

सूि: a³ - b³ = (a - b)(a² + b² + ab) 

आवश्यि मान = 
2.1×2.1×2.1−1.2×1.2×1.2

2.1×2.1+1.2×1.2+2.1×1.2
  

=
(2.1−1.2)(2.12+1.22+2.1×1.2)

2.12+1.22+2.1×1.2
= 0.9  

23. Answer: (B) 

x + 1/x = 4 

दोनोों पक्षोों िा वगय िरने पर,  

(x + 1/x)² = 16 

र्ा, x² + 
1

𝑥2 + 2 = 16 

र्ा, x² + 
1

𝑥2 = 14 

पुनः , दोनोों पक्षोों िा वगय िरने पर, 

(x² + 
1

𝑥2)² = 196 

र्ा, x⁴ + 
1

𝑥4 + 2 = 196 

अतः , x⁴ + 
1

𝑥4 = 194 

24. Answer: (D)  
𝑥−2𝑥tan2 45∘

2+tan2 45∘ = sin2 45∘ + cot2 30∘ − 5cos2 30∘  

र्ा, 𝑥 ×
1−2×1

(2+1)
= (

1

√2
)

2

+ (√3)2 − 5 × (
√3

2
)

2

 

र्ा, 𝑥 × (−
1

3
) =

1

2
+ 3 − 5 ×

3

4
 

र्ा, −
𝑥

3
=

7

2
−

15

4
  

र्ा, −
𝑥

3
= −

1

4
 

अतः , 'x' = 0.75 

25. Answer: (B)  

माना गोले िी किज्या 'r' सेमी है। 

गोले िे अकधितम आर्तन िे कलए गोले िा व्यास घन िे 

किनारे िी लों ाई िे  रा र होगा। 
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अत: गोले िी किज्या = (6.3/2) सेमी 

तो, आवश्यि मािा = 
4

3
𝜋 × 𝑟3 

=
4

3
×

22

7
× (6.3/2) × (6.3/2) × (6.3/2)  

= 130.977 सेमी³ 

Reasoning Aptitude               

26. Answer: (B)  

सही शब्दिोश क्रम होगा: 

2- Concept, 5- Connect, 6- Conquer, 4- 

Conserve, 1- Contour, 3- Convent 

तो, '2, 5, 6, 4, 1, 3' कदए गए शब्दोों िे सही शब्दिोश 

क्रम िो दशायता है। 

27. Answer: (A) 

I. 44 ÷ 12 × 4 - 6 + 11 = 94 

(I) में कचह्ोों और अोंिोों िो आपस में  दलने िे  ाद, हमें 

प्राप्त होता है: 

44 ÷ 4 + 12 - 6 × 11 = 94 

11 + 12 - 6 × 11 = 94 

11 + 12 - 66 = 94 

23 - 66 = 94 

-43 ≠ 94 

II. 96 ÷ 4 + 15 - 12 × 2 = 50 

(II) में कचह्ोों और अोंिोों िो आपस में  दलने िे  ाद, हमें 

प्राप्त होता है: 

96 ÷ 12 × 15 - 4 + 2 = 50 

8 × 15 - 4 + 2 = 50 

120 - 4 + 2 = 50 

122 - 4 = 50 

118 ≠ 50 

इसकलए, दोनोों समीिरणोों में कदए गए दो कचह्ोों और 

सोंख्याओों िो आपस में  दलने से, समीिरण I और II 

दोनोों गलत होोंगे। 

28. Answer: (C) 

र्हाूँ अनुसरण किर्ा गर्ा तिय  र्ह है: 

दूसरी सोंख्या प्राप्त िरने िे कलए पहली सोंख्या िो 1.5 से 

कवभाकजत किर्ा जाता है। 

कविल्प a में, (54 ÷ 1.5) = 36 

कविल्प b में, (72 ÷ 1.5) = 48 

कविल्प c में, (84 ÷ 1.5) = 56 ≠ 46 

कविल्प d में, (66 ÷ 1.5) = 44 

इसकलए, कविल्प c िो छोड़िर उपरोक्त सभी कविल्प 

समान तिय  िा पालन िरते हैं। 

29. Answer: (C) 

सकिकहत कचि नीचे कदखार्ा गर्ा है, 

 
30. Answer: (D) 

र्हाूँ अनुसरण किर्ा गर्ा तिय  र्ह है: 

पहले और दूसरे अक्षरोों िो आपस में  दल कदर्ा जाता है 

और तीसरे और चौथे अक्षरोों िो आपस में  दल कदर्ा 

जाता है, किर उनिे तीसरे पूवयवती अक्षरोों िो अोंगे्रजी 

वणयमाला शृ्ोंखला िे अनुसार कलखा जाता है। पहले और 

दूसरे अक्षर समूह में, 'CALM' िो 'XZJI' कलखा जाता है। 

C A L M 

A C M L 

3 -3 -3 -3 

X Z J I 

इसी प्रिार, तीसरे और चौथे अक्षर समूह में, 'WENT' िो 

'BTQK' िे रूप में कलखा जाता है। 

W E N T 

E W T N 

3 3 3 3 

B T Q K 

इसकलए, 5वें और 6वें अक्षर समूह में, 'RUSK' िो 'ROHP' 

िे रूप में कलखा जाएगा। 

R U S K 

U R K S 

-3 -3 -3 -3 

R O H P 

जैसे, 'CALM' िो 'XZJI' िे रूप में िोकडत किर्ा जाता 

है और 'WENT' िो 'BTQK' िे रूप में िोकडत किर्ा 

जाता है, उसी प्रिार 'RUSK' िो 'ROHP' िे रूप में 

िोकडत किर्ा जाएगा। 

31. Answer: (D) 

 
कनष्कषय: 

I. िुछ रोंग िला हैं: अनुसरण नही ों िरते हैं (चूोंकि, रोंग और 

िला िे  ीच िोई सीधा सों ोंध नही ों है। इसकलए, िोई 

कनकित कनष्कषय अनुसरण नही ों िरता है) 

II. िोई रोंग िला नही ों है: अनुसरण नही ों िरता है (चूोंकि, 

रोंग और िला िे  ीच िोई सीधा सों ोंध नही ों है। इसकलए, 

िोई कनकित कनष्कषय अनुसरण नही ों िरता है) 

III. सभी पेंट रोंग हैं: अनुसरण नही ों िरता है (चूूँकि, पेंट 

और रोंगोों िे  ीच िोई सीधा सों ोंध नही ों है। इसकलए, िोई 

कनकित कनष्कषय अनुसरण नही ों िरता है) 

लेकिन कनष्कषय I और कनष्कषय II एि मानाथय रु्ग्म  नाते हैं। 

इसकलए, र्ा तो कनष्कषय I र्ा कनष्कषय II अनुसरण िरता है। 

32. Answer: (A)  

र्हाूँ अनुसरण किर्ा गर्ा पैटनय इस प्रिार है: 

अोंगे्रजी वणयमाला शृ्ोंखला िे अनुसार दूसरा अक्षर पहले 

अक्षर िा तीसरा पूवयवती अक्षर है और तीसरा अक्षर पहले 

अक्षर िा तीसरा अगला अक्षर है। 

कविल्प A में: पहला अक्षर = K, दूसरा अक्षर = K - 3  

= H, तीसरा अक्षर = K + 3 = N ≠ M 

कविल्प B में: पहला अक्षर = D, दूसरा अक्षर = D - 3  

= A, तीसरा अक्षर = D + 3 = G 

कविल्प 'C' में: पहला अक्षर = S, दूसरा अक्षर = S - 3  

= P, तीसरा अक्षर = S + 3 = V 

कविल्प 'D' में: पहला अक्षर = Q, दूसरा अक्षर = Q - 3  

= N, तीसरा अक्षर = Q + 3 = T 

तो, 'KHM' अलग है। 

33. Answer: (A) 

दी गई शृ्ोंखला: 17, 26, 51, ?, 221, 390 
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र्हाों अपनार्ा गर्ा तिय  र्ह है कि  ाएों  छोर से लगातार 

सोंख्याओों िे  ीच िा अोंतर 3 से शुरू होने वाली लगातार 

अभाज्य सोंख्याओों िा वगय है जैसा कि नीचे कदखार्ा गर्ा 

है। 

17 + 3² = 17 + 9 = 26 

26 + 5² = 26 + 25 = 51 

51 + 7² = 51 + 49 = 100 

100 + 11² = 100 + 121 = 221 

221 + 13² = 221 + 169 = 390 

अत: प्रश्नकचह् िे स्थान पर '100' आएगा। 

तो, पूरी शोंखला है: 

17, 26, 51, 100, 221, 390 

34. Answer: (A) 

दी गई शृ्ोंखला:  

HUGE, MBAW, RIUO, WPOG, ?, GDCQ 

र्हाों अपनार्ा गर्ा तिय  है: 

H U G E 

+5 +7 - 6 - 8 

M B A W 

+5 +7 - 6 - 8 

R I U O 

+5 +7 - 6 - 8 

W P O G 

+5 +7 - 6 - 8 

B W I Y 

+5 +7 - 6 - 8 

G D C Q 

तो, BWIY दी गई शृ्ोंखला में लुप्त पद है। 

35. Answer: (C) 

कदर्ा है: 

 
र्हाूँ अनुसरण किर्ा गर्ा तिय  इस प्रिार है, 

II, I िी दपयण छकव है। इसी प्रिार, IV, III िी दपयण छकव 

है। 

इस प्रिार, प्रश्न कचह् िा स्थान लेने वाली आिृकत है: 

 
पूरी आिृकत इस प्रिार है: 

 
36. Answer: (C)  

र्हाों अपनार्ा गर्ा पैटनय इस प्रिार है: 

शब्द िी िोकडत सोंख्या प्राप्त िरने िे कलए दूसरे अक्षर 

और दूसरे अोंकतम अक्षर िे स्थानीर् मान िो गुणा किर्ा 

जाता है। 

ENGLAND में, 

E N G L A N D 

5 14 8 12 1 14 4 

दूसरे और अोंकतम दूसरे अक्षर िे स्थानीर् मान िा गुणा 

=14 × 14 = 196 

WORRIED में, 

W O R R I E D 

23 15 18 18 9 5 4 

दूसरे और अोंकतम दूसरे अक्षर िे स्थानीर् मान िा गुणा  

= 15 × 5 = 75 

इसी प्रिार, HIEST में, 

H I E S T 

8 9 5 19 20 

दूसरे और अोंकतम दूसरे अक्षर िा स्थानीर् मान गुणा िरने 

पर = 9 × 19 = 171 

इसकलए, 'HIEST' िो '171' िे रूप में िोकडत किर्ा गर्ा 

है। 

37. Answer: (A)  

प्रारों कभि क ोंदु: नू्यनतम सोंख्या में मामले  नाने िे कलए B5, 

B1 और B6 से प्रारोंभ िरें । 

सुराग: 

1) B5, B1 से तीन  ॉक्स ऊपर है जैसे कि दोनोों अभाज्य 

सोंख्या वाले  ॉक्स हैं। 

2) B5 और B6 िे  ीच एि  ॉक्स है। 

3) B3, B2 से दो कडबे्ब ऊपर है। B2 एि कवषम सोंख्या 

वाला कडब्बा है। 

4) B7, B4 से ऊपर है। 

अनुमान: 

सुराग 1 से, B5 और B1 क्रमशः  5वाों  ॉक्स और दूसरा 

 ॉक्स हैं। 

सुराग 2 से, B6 र्ा तो 7वाों  ॉक्स है र्ा तीसरा  ॉक्स है। 

िेस 1: B6 सातवाों  ॉक्स है। 

सुराग 3 से, B3 और B2 क्रमशः  पहला  ॉक्स और तीसरा 

 ॉक्स हैं। 

सुराग 4 से, B7 और B4 क्रमशः  छठा  ॉक्स और चौथा 

 ॉक्स हैं। 

िेस 2: B6 तीसरा  ॉक्स है। 

सुराग 3 से, इस मामले िो खाररज किर्ा जा सिता है 

क्ोोंकि  ी3 और  ी2 िे कलए उपलब्ध एिमाि द्धस्थकत 

क्रमशः  6वाों  ॉक्स और चौथा  ॉक्स है। हालाूँकि र्ह सुराग 

'3' िा उल्लोंघन िरता है। 

अोंकतम व्यवस्था इस प्रिार है: 

बॉक्स नंबर बॉक्स 

7 B6 

6 B7 

5 B5 

4 B4 

3 B3 

2 B1 

1 B2 

B4 िे नीचे तीन  ॉक्स हैं। 

38. Answer: (B)  

र्हाूँ अनुसरण किर्ा गर्ा पैटनय इस प्रिार है: 

तीसरी सोंख्या पहली और दूसरी सोंख्या िे पूणय अोंतर िा 

आधा है। 
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(65, 39, 13) में, 

पहली सोंख्या = 65, दूसरी सोंख्या = 39, तीसरी सोंख्या  

= (65 - 39) ÷ 2 = 13 

(32, 14, 9) में, 

पहली सोंख्या = 32, दूसरी सोंख्या = 14, तीसरी सोंख्या  

= (32 - 14) ÷ 2 = 9 

कविल्प A में, (41, 19, 9): 

पहली सोंख्या = 41, दूसरी सोंख्या = 19, तीसरी सोंख्या  

= (41 - 19) ÷ 2 = 11 ≠ 9 

कविल्प C में, (53, 21, 14): 

पहली सोंख्या = 53, दूसरी सोंख्या = 21, तीसरी सोंख्या  

= (53 - 21) ÷ 2 = 16 ≠ 14 

कविल्प D में, (26, 8, 11): 

पहली सोंख्या = 26, दूसरी सोंख्या = 8, तीसरी सोंख्या  

= (26 - 8) ÷ 2 = 9 ≠ 11 

कविल्प B में, (40, 18, 11): 

पहली सोंख्या = 40, दूसरी सोंख्या = 18, तीसरी सोंख्या  

= (40 - 18) ÷ 2 = 11  

अथायत कविल्प B (40, 18, 11) िो छोड़िर सोंख्याओों िा 

सभी सोंर्ोजन इस पैटनय िा पालन नही ों िरता है। 

39. Answer: (B) 

र्हाूँ अनुसरण किर्ा गर्ा तिय  र्ह है: 

अोंगे्रजी वणयमाला शृ्ोंखला िे अनुसार, शब्दोों िे पहले, तीसरे 

और पाोंचवें अक्षर िो उनिे चौथे अगले अक्षर से  दल 

कदर्ा जाता है, शब्दोों िे दूसरे, चौथे और छठे अक्षर िो 

पाोंचवें अगले अक्षर से  दल कदर्ा जाता है। 

चूोंकि 'STORED' िो 'WYSWII' िे रूप में िोकडत किर्ा 

गर्ा है 

S 

[19] 

T 

[20] 

O 

[15] 

R 

[18] 

E 

[5] 

D 

[4] 

+4 +5 +4 +5 +4 +5 

W Y S W I I 

'LAMENT' िो 'PFQJRY' िे रूप में िोकडत किर्ा गर्ा है 

L 

{12] 

A 

[1] 

M 

[13] 

E 

[5] 

N 

[14] 

T 

[20] 

+4 +5 +4 +5 +4 +5 

P F Q J R Y 

इसी प्रिार, 

'RECALL' िो 'VJGFPQ' िे रूप में िोकडत किर्ा गर्ा है 

R 

[18] 

E [5] C 

[3] 

A 

[1] 

L [12] L [12] 

+4 +5 +4 +5 +4 +5 

V J G F P Q 

जैसे 'STORED' िो 'WYSWII' और 'LAMENT' िो 

'PFQJRY' िे रूप में िोकडत किर्ा जाता है, उसी प्रिार 

'ReCALL' िो 'VJGFPQ' िे रूप में िोकडत किर्ा जाता 

है। 

40. Answer: (A) 

धोलावीरा गुजरात में है. इसी तरह हम्पी िनायटि में है. 

41. Answer: (B) 

कदर्ा गर्ा सों ोंध: C % D & E $F # G & H 

कदए गए िोकडत सों ोंध िो कडिोड िरने िे  ाद, हमें 

प्राप्त होता है 

C, D और E िी  ेटी है। E, F िा  ेटा है और G िा भाई 

है। G, H िी पत्नी है। 

हम कनम्नकलद्धखत वोंश वृक्ष  नाते हैं। 

 
G, D िी ननद है। 

42. Answer: (A) 

ज  हम द्धस्थकत '2' और '3' िे A से दकक्षणावतय कदशा में 

अक्षर कलखते हैं। 

द्धस्थकत 2 से: #, !, % 

द्धस्थकत 3 से: #, @, % 

तो, '@' '!' वाले िलि िे कवपरीत िलि पर होगा। 

43. Answer: (C) 

र्हाों तिय  र्ह है कि किन्ी ों दो लगातार अक्षरोों िे स्थानीर् 

मान िे  ीच िा अोंतर एि अभाज्य सोंख्या है। 

कविल्प A में: FINP 

I(9) - F(6) = 3, N(14) - I(9) = 5, P(16) - N(14) = 2 

कविल्प B में: ORTY, 

R(18) - O(15) = 3, T(20) - R(18) = 2, Y(25) - T(20) 

= 5 

विकल्प C में:  CHKO, 

H(8) - C(3) = 5, K(11) - H(8) = 3, O(15) - K(11) 

= 4 

कविल्प D में: ELQT 

L(12) - E(5) = 7, Q(17) - L(12) = 5, T(20) - Q(17) = 

3 

44. Answer: (B)  

 
किभुज हैं: AHB, AHG, AGB, AHI, AIB, BIG, IHG, BHF, 

HBG, BGF, CJD, CED, DJE, DBF, JEF and DEF. 

तो, दी गई आिृकत में 16 किभुज हैं। 

45. Answer: (C) 

कदर्ा गर्ा शब्द: 

INVALIDATION 

NATIONAL िो INVALIDATION शब्द िे अक्षरोों िा 

उपर्ोग िरिे  नार्ा जा सिता है। 

AVIATION िो INVALIDATION शब्द िे अक्षरोों िा 

उपर्ोग िरिे  नार्ा जा सिता है। 

कदए गए शब्द िे अक्षरोों िा उपर्ोग िरिे INITIALS नही ों 

 नार्ा जा सिता, क्ोोंकि INVALIDATION में िोई 'S' 

नही ों है। 

VALIANT िो INVALIDATION शब्द िे अक्षरोों िा 

उपर्ोग िरिे  नार्ा जा सिता है। 

46. Answer: (C) 

र्कद दपयण िो आिृकत िे दाईों ओर रखा गर्ा है, 
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47. Answer: (B) 

दी गई शृ्ोंखला: 

7 _ _ 4 5 _ 2 7 6 8 _ 5 3 _ _ 6 _ _ 5 3 2 7 _ 8 4 _ _ 2 

पूरी शोंखला होगी: 

7 6 8 4 5 3 2 / 7 6 8 4 5 3 2 / 7 6 8 4 5 3 2 / 7 6 8 

4 5 3 2 

तो, '6, 8, 3, 4, 2, 7, 8, 4, 6, 5, 3' शृ्ोंखला िो पूरा िरेगा। 

48. Answer: (B) 

र्हाूँ अनुसरण किर्ा गर्ा तिय  इस प्रिार है: 

शब्दोों िो  ाएों  छोर से कदए गए शब्द िे पहले और दूसरे 

अक्षर िे स्थानीर् मान िे र्ोग िे रूप में िोकडत किर्ा 

गर्ा है। 

चूोंकि 'EARN' िो '6' िे रूप में िोकडत किर्ा गर्ा है 

E A R N 

5 1   

िोड = 5 + 1 = 6 

'SOLD' िो '34' िे रूप में िोकडत किर्ा गर्ा है। 

S O L D 

19 15       

िोड = 19 + 15 = 34 

इसी प्रिार, 

T R A P 

20 18        

िोड = (20 + 18) = 38 

इसकलए, 'TRAP' िो '38' िे रूप में िोकडत किर्ा गर्ा 

है। 

49. Answer: (D)  

कदर्ा गर्ा वगय: अभाज्य सोंख्याएूँ , पूणय सोंख्याएूँ , अपररमेर् 

सोंख्याएूँ । 

सभी अभाज्य सोंख्याएूँ  पूणय सोंख्याएूँ  हैं। िोई भी पूणय सोंख्या 

एि अपररमेर् सोंख्या नही ों है। 

तो, वेन आरेख जो 'अभाज्य सोंख्या', 'पूणय सोंख्या' और 

'अपररमेर् सोंख्या' िे  ीच सों ोंध िो स से अच्छी तरह से 

दशायता है, वह इस प्रिार है, 

 
50. Answer: (D)  

1444 एि लीप वषय था। 

तो, 16 अकू्ट र, 1444 ति 258 (28 + 31 + 30 + 31 

+ 30 + 31 + 31 + 30 + 16) कदन  ीत चुिे थे। 

सप्ताह िे कदन 7 कदनोों िे  ाद खुद िो दोहराते हैं। 

कवषम कदनोों िी सोंख्या = 6 

तो, 16 अकू्ट र, 1444 िो  ुधवार था। 

General Studies            

51. Answer: (B) 

कवजर्ालर् शाही चोल राजवोंश िे सोंस्थापि थे जो भारतीर् 

इकतहास में स से शानदार साम्राज्योों में से एि िी 

शुरुआत थी। 

चोल साम्राज्य तकमलिम िा एि तकमल थैलासोके्रकटि 

साम्राज्य था और इस पर कवश्व इकतहास में स से लों े समर् 

ति शासन िरने वाले राजवोंशोों में से एि िा शासन था। 

चोल िा स से पहला डेटा र्ोग्य सोंदभय मौर्य साम्राज्य िे 

अशोि िे शासनिाल िे दौरान तीसरी शताब्दी ईसा पूवय 

िे कशलालेखोों से कमलता है। 

52. Answer: (D) 

ढालो नृत्य भारत िे गोवा िे स से प्रकसि ग्रामीण नृत्योों में 

से एि है। 

• र्ह नृत्य मकहलाओों द्वारा किर्ा जाता है और र्ह उनिे 

पररवारोों िे कलए सुरक्षा िी प्राथयना िे रूप में िार्य िरता 

है। 

• कजन गीतोों पर नृत्य किर्ा जाता है वे आमतौर पर 

िोोंिणी भाषा र्ा मराठी में गाए जाते हैं। 

53. Answer: (C)  

2023-24 िे िें द्रीर्  जट में रेलवे िे कलए पूोंजी पररव्यर् 

िो अ  ति िे उच्चतम ₹2.40 लाख िरोड़ ति  ढा 

कदर्ा गर्ा है। 

रेलवे िे कलए पररव्यर् 2013-2014 में प्रदान िी गई राकश 

िा नौ गुना है। 

54. Answer: (A) 

27 जुलाई, 1921 िो, िनाडाई डॉक्टरोों फे्रडररि  ैंकटोंग 

और चार्ल्य  ेस्ट ने हामोन इोंसुकलन िो सिलतापूवयि 

अलग िर कदर्ा, जो मधुमेह िे इलाज में स से महत्वपूणय 

सिलताओों में से एि है। 

इस वैज्ञाकनि शोध िे कलए  ैंकटोंग एवों मैिकलर्ोड िो 

नो ेल पुरस्कार (1923) कमला। इोंसुकलन हामोन रक्त में 

गू्लिोज िे कनर्मन से सों ोंकधत है। 

55. Answer: (A) 

िकनष्क प्रथम िे दर ार में िकव अश्वघोष ने  ुि िी 

जीवनी ( ुि चररि) िी रचना िी। वह एि दाशयकनि और 

िकव थे। 

वह पहले नाटििार थे कजन्ोोंने नाटिोों िी रचना में 

सोंसृ्कत िा प्रर्ोग किर्ा। 

56. Answer: (A) 

रंगनाथ वमश्रा आयोग: 

• इसे आकधिाररि तौर पर राष्ट्र ीर् धाकमयि और भाषाई 

अल्पसोंख्यि आर्ोग िे रूप में जाना जाता है। 

• इसिा गठन देश में भाषाई और धाकमयि अल्पसोंख्यिोों 

से सों ोंकधत कवकभि मुद्ोों िो देखने िे कलए किर्ा गर्ा था। 

• सकमकत ने अपनी ररपोटय (2007) में कसिाररश िी कि 

अनुसूकचत जाकत िा दजाय पूरी तरह से धमय से अलग िर 

कदर्ा जाए और अनुसूकचत जनजाकत (एसटी) िी तरह इसे 

धमय-तटस्थ  ना कदर्ा जाए। 

• इसने इस्लाम और ईसाई धमय अपनाने वाले दकलतोों िो 

अनुसूकचत जाकत िा दजाय प्राप्त िरने िी अनुमकत देने िी 

कसिाररश िी थी। 

57. Answer: (B) 

वारु्दूत भारत िी एि के्षिीर् एर्रलाइन थी कजसिी 

स्थापना 20 जनवरी 1981 िो दो राज्य स्वाकमत्व वाली 

वाहि, इोंकडर्न एर्रलाइोंस और एर्र इोंकडर्ा िे  ीच एि 

सोंरु्क्त उद्यम िे रूप में िी गई थी। 

एर्रलाइन िा मुख्यालर् नई कदल्ली िे सिदरजोंग हवाई 

अडे्ड पर था। 

58. Answer: (A) 

कहमा दास (जन्म 9 जनवरी 2000), उपनाम कढोंग एक्सपे्रस, 

असम राज्य िी एि भारतीर् धावि हैं। 

कहमा दास असम राज्य िी 19 वषीर् भारतीर् धावि हैं। 

कहमा दास एथलेकटक्स में टर ैि और िील्ड से जुड़ी हैं। 
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59. Answer: (D) 

अनुचे्छद 148 - भारत िा कनर्ोंिि एवों महालेखा परीक्षि। 

CAG भारत िे सोंकवधान िे तहत एि स्वतोंि प्राकधिरण 

है। 

वह भारतीर् लेखापरीक्षा एवों लेखा कवभाग िे प्रमुख और 

सावयजकनि धन िे मुख्य सोंरक्षि हैं। 

इस अनुचे्छद िे अनुसार भारत िा एि कनर्ोंिि एवों 

महालेखापरीक्षि होगा, कजसे राष्ट्र पकत द्वारा अपने हस्ताक्षर 

एवों मुहर िे तहत वारोंट द्वारा कनरु्क्त किर्ा जाएगा और 

उसे उच्चतम न्यार्ालर् िे न्यार्ाधीश िे समान तरीिे और 

समान आधार पर ही पद से हटार्ा जाएगा। 

60. Answer: (D) 

डेकवस िप, िुट ॉल कवश्व िप िे समिक्ष टेकनस िा नाम 

अमेररिी िॉलेकजर्न ड्वाइट किली डेकवस िे नाम पर 

रखा गर्ा था। 

डेकवस िप, मूल रूप से शौकिर्ा पुरुषोों िी टीमोों िे कलए 

वाकषयि अोंतरराष्ट्र ीर् लॉन-टेकनस टूनायमेंट िे कवजेता िो दी 

जाने वाली टर ॉिी। 

डेकवस िप टेकनस िा कवश्व िप है। र्ह कवश्व खेल में स से 

 ड़ी वाकषयि अोंतरायष्ट्र ीर् टीम प्रकतर्ोकगता है और इसिी 

स्थापना 1900 में ड्वाइट डेकवस द्वारा िी गई थी। 

61. Answer: (B) 

मध्यरु्गीन िाल िे दौरान, मुद्धस्लम शासिोों िे दर ार में 

शाही पोशाि और शॉल िे कलए कहमरू सामग्री िा 

उपर्ोग किर्ा जाता था। आज भी कहमरू शॉल  हुत 

लोिकप्रर् हैं। इनिा कनमायण महाराष्ट्र  िे औरोंगा ाद में हुआ 

है। 

62. Answer: (C) 

वाकणज्य और उद्योग मोंिालर् द्वारा मध्य प्रदेश (एमपी) िे 

िई उत्पादोों िो भौगोकलि सोंिेत (जीआई) टैग प्रदान 

किर्ा गर्ा है, कजसमें 5 हस्तकशल्प उत्पाद, 1 िृकष उत्पाद, 

1 खाद्य सामग्री और 1 िपड़ा उत्पाद शाकमल हैं। 

हस्तकशल्प उत्पाद: 

• गोोंड पेंकटोंग (कडोंडोरी) 

• ग्वाकलर्र हस्तकनकमयत िालीन 

• भेड़ाघाट पत्थर कशल्प (ज लपुर) 

• गढा लौह कशल्प (कडोंडोरी) 

• वाराकसवनी हथिरघा साड़ी और िपडे़ ( ालाघाट) 

िृकष उत्पाद: शर ती गेहू (गेहूों कजसे गोल्डन गे्रन भी िहा 

जाता है) सीहोर और कवकदशा कजलोों में उगाई जाने वाली 

गेहूों िी एि के्षिीर् किस्म है। 

खाद्य सामग्री: मुरैना गजि, एि प्रिार िी कमठाई, िो 

खाद्य सामग्री शे्णी में जीआई टैग प्राप्त हुआ है। 

टेक्सटाइल: उजै्जन  ाकटि कप्रोंट िो टेक्सटाइल शे्णी में 

जीआई टैग प्राप्त हुआ है। 

63. Answer: (A) 

पद शपथ इस्तीिा 

भारत िे राष्ट्र पकत भारत िे मुख्य 

न्यार्ाधीश 

उपराष्ट्र पकत 

भारत िे 

उपराष्ट्र पकत 

राष्ट्र पकत राष्ट्र पकत 

राज्य िे 

राज्यपाल 

उच्च न्यार्ालर् 

िे मुख्य 

न्यार्ाधीश 

राष्ट्र पकत 

भारत के मुख्य 

न्यायाधीश 

राष्ट्रपवत राष्ट्रपवत 

भारत िे प्रधान 

मोंिी 

राष्ट्र पकत राष्ट्र पकत 

लोिसभा अध्यक्ष िोई शपथ 

नही ों 

उपराष्ट्र पकत 

64. Answer: (B)  

अपलोड िरने िा अथय है अपने िों पू्यटर से डेटा र्ा फाइल 

िो इोंटरनेट पर िही ों भेजना। 

र्ह ग्राहि िी मशीन से सवयर ति डेटा टर ाोंसिर िरने में 

मदद िरता है। 

65. Answer: (A)  

गहन िृकष कजला िार्यक्रम (1960) 

गहन िृकष कजला िार्यक्रम (आईएडीपी) िो वषय 1960 में 

गहन िृकष कविास में पहले  डे़ प्रर्ोग िे रूप में शुरू 

किर्ा गर्ा था। 

1950 िे दशि िे दौरान िृकष िी अपर्ायप्त कविास दर 

सरिार िे कलए गोंभीर कचोंता िा कवषर् थी। 

सूखे िे वषय 1957-58 में िसल उत्पादन में भारी कगरावट 

ने खाद्य द्धस्थकत िी गोंभीरता पर िािी हद ति ध्यान 

िें कद्रत किर्ा। 

66. Answer: (D) 

पहली र्ोजना (1951 - 1956): 

• प्रथम भारतीर् प्रधान मोंिी जवाहरलाल नेहरू ने भारत 

िी सोंसद में पहली पोंचवषीर् र्ोजना प्रसु्तत िी। 

• पहली पोंचवषीर् र्ोजना 1951 में शुरू िी गई थी जो 

मुख्य रूप से प्राथकमि के्षि िे कविास पर िें कद्रत थी। 

• प्रथम पोंचवषीर् र्ोजना िुछ सोंशोधनोों िे साथ हैरोड-

डोमर मॉडल पर आधाररत थी। 

• प्रथम पोंचवषीर् र्ोजना िा आदशय वाक् 'िृकष िा 

कविास' था। 

• आजादी िे  ाद देश िा पुनकनयमायण िरना इस र्ोजना 

िा दृकष्ट्िोण था। 

नोट: दूसरी पोंचवषीर् र्ोजना में महालनोक स मॉडल िा 

पालन किर्ा गर्ा। 

67. Answer: (B)  

अकदश राकश एि भौकति राकश है कजसिा िेवल पररमाण 

(आिार र्ा सोंख्यात्मि मान) होता है, क ना किसी सों ोंकधत 

कदशा िे। अकदश राकशर्ाूँ पूरी तरह से उनिे पररमाण और 

उकचत इिाइर्ोों द्वारा वकणयत हैं। 

अकदश राकशर्ोों िे िुछ उदाहरणोों में शाकमल हैं: 

• तापमान 

• द्रव्यमान 

• समर् 

• रफ़्तार 

• ऊजाय 

• िाम 

सकदश राकश एि भौकति राकश है कजसमें पररमाण और 

कदशा दोनोों होते हैं। वेक्टर िो तीरोों द्वारा दशायर्ा जाता है, 

जहाों तीर िी लों ाई पररमाण िा प्रकतकनकधत्व िरती है, 

और तीर िी कदशा मािा िी कदशा िा प्रकतकनकधत्व िरती 

है। 

वेक्टर मािाओों िे िुछ उदाहरणोों में शाकमल हैं: 

• कवस्थापन 

• वेग 

•  ल 

• त्वरण 

• गकत 
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68. Answer: (B) 

मुगल साम्राज्य िे 18वी ों शताब्दी िे खुसरो खान िो 

आधुकनि कवद्वता द्वारा कसतार िे आकवष्कारि िे रूप में 

पहचाना गर्ा है। 

• वह एि िकव होने िे साथ-साथ एि प्रखर सोंगीतिार 

भी थे। 

• वह कनजामुद्ीन औकलर्ा िे िट्टर अनुर्ार्ी थे। 

• उन्ोोंने कवकभि भाषाओों- फारसी, तुिी, अर ी, ब्रज भाषा, 

कहोंदवी में रचना िी। 

• ऐसा माना जाता है कि उन्ोोंने ख्याल और तराना िे 

सोंगीत रूपोों िो जन्म कदर्ा। 

• उन्ोोंने कसतार और टे ल िा आकवष्कार किर्ा। 

69. Answer: (C) 

भूपपयटी पृथ्वी िी स से  ाहरी परत है। 

पृथ्वी िी तीन परतें हैं: क्रस्ट, मेंटल और िोर। भूपपयटी 

ठोस चट्टानोों और खकनजोों से  नी है। भूपपयटी िे नीचे मेंटल 

है, जो ज्यादातर ठोस चट्टानें और खकनज है, लेकिन अधय-

ठोस मैग्मा िे लचीले के्षिोों द्वारा कवराकमत है। पृथ्वी िे िें द्र 

में एि गमय, सघन धातु िोर है। 

70. Answer: (C) 

ऑल-इोंकडर्ा मुद्धस्लम लीग (एआईएमएल) 1906 में ढािा 

में स्थाकपत एि राजनीकति दल था, ज  िुछ प्रकसि 

मुद्धस्लम राजनेताओों ने भारतीर् उपमहाद्वीप पर मुद्धस्लम 

कहतोों िो सुरकक्षत िरने िे लक्ष्य िे साथ कब्रकटश भारत िे 

वार्सरार् लॉडय कमोंटो से मुलािात िी थी। 

71. Answer: (A) 

 ैरोमीटर एि वैज्ञाकनि उपिरण है कजसिा उपर्ोग 

वारु्मोंडलीर् द ाव िो मापने िे कलए किर्ा जाता है, कजसे 

 ैरोमीटर िा द ाव भी िहा जाता है। 

वारु्मोंडल पृथ्वी िे चारोों ओर कलपटी वारु् िी परतें हैं। उस 

हवा में एि भार होता है और वह कजस भी चीज िो छूती है 

उस पर द ाव डालती है क्ोोंकि गुरुत्वािषयण उसे पृथ्वी 

िी ओर खी ोंचता है।  ैरोमीटर इस द ाव िो मापते हैं। 

72. Answer: (C) 

भारतीर् वारु् सेना (IAF) िी टुिड़ी में चार रािेल, दो C-

17, दो LL-78 कवमान और 165 वारु् र्ोिा शाकमल हैं, 

कजन्ोोंने हाल ही में मॉन्ट-डी-मासयन में आर्ोकजत फ्राोंस 

द्वारा आर्ोकजत एि  हुराष्ट्र ीर् अभ्यास, एक्सरसाइज 

ओररर्न में भाग कलर्ा है। फ्राोंसीसी वारु् और अोंतररक्ष  ल 

(एिएएसएि) िा िोसय  ेस। 

• र्ह अभ्यास 17 अपै्रल से 05 मई 2023 ति आर्ोकजत 

किर्ा गर्ा है। 

• र्ह भारतीर् वारु्सेना िे रािेल कवमान िा पहला कवदेशी 

अभ्यास है। 

• जमयनी, ग्रीस, इटली, नीदरलैंड, रू्नाइटेड किों गडम, से्पन 

और सोंरु्क्त राज्य अमेररिा िी वारु् सेनाओों ने भी अभ्यास 

में भाग कलर्ा है। 

73. Answer: (A) 

टॉिय  उस  ल िा माप है जो किसी वसु्त िो एि अक्ष िे 

चारोों ओर घुमा सिता है। 

टॉिय  =  ल × लों वत दूरी। 

टॉिय  िी SI इिाई = नू्यटन मीटर है 

74. Answer: (C) 

पृथ्वी िे वारु्मोंडल में पाूँच प्रमुख और िई कद्वतीर्ि परतें 

हैं। कनम्नतम से उच्चतम ति, प्रमुख परतें क्षोभमोंडल, 

समतापमोंडल, मेसोस्फीर्र, थमोस्फीर्र और 

एक्सोस्फीर्र हैं। 

75. Answer: (C) 

मोंगोल साम्राज्य िे सोंस्थापि चोंगेज खान (1162 - 1227 

ई.) िो कवश्व इकतहास में स से सिल सैन्य िमाोंडरोों में से 

एि माना जाता है। 

• चोंगेज खान िो चोंगेज खान िे नाम से भी जाना जाता है। 

• 1227 में, कवद्रोही पकिमी कजर्ा िो घेरते समर् चोंगेज 

खान िी मृतु्य हो गई; उनिा तीसरा  ेटा और 

उत्तराकधिारी गेदेई दो साल  ाद गद्ी पर  ैठे। 

English Language 

76. Answer: (D)  
WITHER means to perish or die. BLOOM (thrive and 
grow) will be its antonym. 
Wed - marry. Satiate - fulfill. Resist - oppose. 

77. Answer: (C) 
In C, replace the base form OVERWHELM with the 
past participle form OVERWHELMED as the latter 
part of the sentence is in passive voice. Thus, C is the 
right answer. 

78. Answer: (C) 
PREROGATIVE means an exclusive benefit or 
privilege given to a person or group. PRIVILEGE is its 
synonym. Thus, C is the right answer. 
Immaculate - perfectly clean, neat, or tidy. Destitute - 
poor; bankrupt. Dotage - the period of life in which a 
person is old and weak. 

79. Answer: (A)  
The idiom DRIVE A HARD BARGAIN means to 
negotiate effectively. 
None of the other options correctly explain the 
meaning of the idiom. 

80. Answer: (C) 
The word COGNISANCE means knowledge or 
awareness about something. The word IGNORANCE 
(lack of knowledge or information) expresses the 
opposite meaning of the given word. Thus, C is the 
right answer. 
HEED - attention. 
INITIATION - the action of beginning something. 
NOTION - a belief or idea about something. 

81. Answer: (B)  
We need the base form of a verb to complete the 
infinitive structure TO + VERB. The sentence seeks to 
convey that the new manager is determined to 
increase the productivity and efficiency of the 
company through innovative strategies. AUGMENT 
(increase or improve) is the most suitable word in this 
context. Thus, B is the right answer. 
The remaining words are contextually incorrect. 
SUBDUE - to bring under control or overcome. 
HINDER - to obstruct or prevent progress. 
IMPEDE - to slow down or prevent an activity from 
making progress. 

82. Answer: (C)  
We need an adjective to modify the noun MENU. The 
sentence seeks to convey that the restaurant's menu 
caters to a variety of dietary needs. INCLUSIVE 
(covering everything or all types of things) will fit here. 
Thus, C is the right answer. 
The remaining options are contextually incorrect. 
PATHETIC - arousing pity,especially through 
vulnerability or sadness. 
LIMITED - restricted in size, amount, or extent. 
OBSCURE - not discovered or known about; 
uncertain. 

83. Answer: (B) 
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The sentence is in the indicative mood, simple past 
tense, and active voice. To change the sentence to 
the passive voice, follow the rules below: 
I. The object clause will become the subject clause. 
The object, THE PERFORMER will change to the 
subject of the sentence and start the sentence. 
II. The verb APPLAUDED will change to WAS 
APPLAUDED, as the passive construction for the 
simple past tense in the indicative mood is WAS/ 
WERE + PAST PARTICIPLE. 
III. The preposition BY will be added to the sentence, 
and THE AUDIENCE will become its object. 
Thus, B is the right answer. 

84. Answer: (B)  
(b) is the right answer. A recurrent urge to steal is 
known as KLEPTOMANIA. 
Telekinesis - the supposed ability to move objects at 
a distance by mental power. Aphasia - a disorder that 
affects how you communicate. Dipsomania- 
irresistible cravings for alcohol. 

85.  Answer: (D)  
We need a verb to link the subject pronoun THEY 
with the noun SURPLUS. HAULING (moving or taking 
something) will fit here as the sentence tells us how 
the hunter gatherer took in the surplus so that it could 
be shared with others. Thus, D is the right answer. 
Devouring - eating. Diverting - turning away. Hovering 
- floating. 

86.  Answer: (B)  
We need a noun to be modified by the adjective 
STRICT. NORMS (socially enforced rules) will fit here 
as the sentence talks about how the hunter gatherers 
maintained strict rules and expectations. Thus, B is 
the right answer. 
Assumptions - guesses. Novice - beginner. Errands - 
tasks. 

87.  Answer: (C)  
We need an adjective to modify the noun POLICY. 
ENDURING (long lasting) will fit here as the sentence 
talks about how our ancestors accidentally discovered 
the most long lasting and effective insurance policy 
ever known. Thus, C is the right answer. 
Ensuing (v.) - following. Aloof - distant. Acerbic - 
bitter. 

88.  Answer: (C)  
We need an adjective to modify the noun ORIGINS. 
MURKY (dark and gloomy) will fit here as the 
sentence tells us that the origins of hunting and 
gathering were not very clear. Thus, C is the right 
answer. 
Meager - small. Morbid - unhealthy. Morose - sad. 

89.  Answer: (D)  
We need a verb to link the subject pronoun WE with 
the object FOODS. EXTRACTED (removed) will fit 
here as the sentence describes how we took out new 
foods from savannahs and grasslands. Thus, D is the 
right answer. 
Amended - modified. Extended - expanded. Adjoined 
- added something. 

90. Answer: (B) 
CUT DOWN ON (to reduce consumption) will fit here 
contextually as the sentence tells us how the speaker 
was advised to reduce intake of salty and fried foods. 
Thus, B is the right answer. 
Cut off - ended contact. Cut out for - to be good at 
something. Cut up - to be very sad about something. 

91. Answer: (C) 
The sentence seeks to convey that the person's 
energy was completely used up, and she had no 
energy left to even keep her eyes open. The phrase 
GIVE OUT (to be completely used up) can replace 
the underlined phrase in the given sentence. 
Thus, C is the correct answer. 

Give up - to stop doing something that you were 
doing before. 
Give off - to produce something such as heat, light, or 
a smell. 
Give upto is grammatically incorrect. 

92. Answer: (B) 
SRPQ is the correct order of the sentences. SR is a 
mandatory pair. S begins the paragraph by telling us 
about the narrator's desire to get into the water of the 
Cascades, and R follows and tells us that whenever 
he went into the water, he felt the terror come back. P 
follows R because it tells us about the narrator's 
experience when he underwent the terror. Q follows P 
and concludes the paragraph by stating that this 
experience kept repeating for many years. Thus, B is 
the right answer. 

93. Answer: (D) 
The correct spelling of the word is ASSIDUOUS 
(careful and diligent). Thus, D is the right answer. 

94. Answer: (C) 
The sentence is in indirect speech. Follow the 
instructions below to convert a sentence from indirect 
to direct speech: 
I. Add the comma and inverted commas, and remove 
THAT. 
II. Replace TOLD with SAID TO. 
III. The past perfect tense verb HAD BEEN CLOSED 
will change to the present perfect tense verb HAS 
BEEN CLOSED. 
Thus, C is the right answer. 
 

95. Answer: (A) 
The word APEX means the highest point or most 
successful part of something. The word PINNACLE 
(the most successful part of something) best 
expresses the meaning of the given word. Thus, A is 
the right answer. 
DEPTH - the distance from the surface to the bottom 
of something. 
COUNSEL- advice. 
WARMTH - the quality of being high in temperature 
but not so hot that it is uncomfortable. 

96. Answer: (B)  
The correct sequence of the parts of the sentence is 
QPR. The given part establishes the subject of the 
sentence, HiS SISTER. QP forms a relative clause 
and follows the given part as a pair. Q will follow the 
given part, as the relative pronoun WHO refers to the 
subject, HIS SISTER, and tells us that she is a 
voracious reader, and P will follow Q as it adds to the 
information given in Q. R will follow P as the linking 
verb IS has been used for the subject. It tells us that 
HER SISTER is a librarian. 

97. Answer: (D) 
The word CONSPIRE means to secretly plan with 
others to do something harmful or illegal. The word 
PLOT (to plan secretly with others to do something) 
expresses the right meaning of the given word. 
Thus, D is the right answer. 
COOPERATE - to work together with someone. 
CONSISTENT - staying the same, not varying. 
COLLABORATE - to work jointly on an activity or 
project. 

98. Answer: (D) 
The word NOXIOUS means poisonous or harmful. 
The word TOXIC (poisonous or causing harm) best 
expresses the meaning of the given word. Thus, D is 
the right answer. 
EDIBLE - suitable to be eaten. 
TAME - not wild or dangerous. 
BLAND - lacking flavour or taste. 

99. Answer: (C)  
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The correct spelling of the given word is 
COMMITMENT, which means promise or dedication 
to something.  

100. Answer: (C) 

The error is in part C of the sentence. The base verb 
REWARD should be replaced with REWARDED, as 
the passive voice structure ARE + VERB takes the 
past participle form of the verb. Thus, C is the right 
answer. 
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